

Bid Tabulation

19-13FP Water and Wasterwater Parts and Supplies

1	2 BELL CLAMP					Made in the USA? If	f not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$132.85	\$265.70	YES	
2	2 1/2 BELL CLAMP					Made in the USA	f not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$116.50	\$233.00	YES	
3	3 BELL CLAMP					Made in the USA	f not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$121.65	\$243.30	YES	
4	4 BELL CLAMP					Made in the USA?	f not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$125.60	\$251.20	YES	
5	6 BELL CLAMP					Made in the USA	f not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$134.00	\$268.00	YES	
6	8 BELL CLAMP					Made in the USA	f not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$187.10	\$374.20	YES	
	1						
7	10 BELL CLAMP					Made in the USA?	f not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$237.65	\$475.30	YES	
8	12 BELL CLAMP					Made in the USA?	f not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	

	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$259.80	\$519.60	YES
9	14 BELL CLAMP					Made in the USA If not, what location
	Supplier	ΟΤΥ	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$839.75	\$1,679.50	YES
		-	273	<i>ç</i> 000170	<i>\\\\\\\\\\\\\</i>	125
10	16 BELL CLAMP					Made in the USA If not, what location
-	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$397.50	\$795.00	YES
11	18 BELL CLAMP					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$546.05	\$1,092.10	YES
		2	LA	Ş540.05	<i>J</i> 1 ,052.10	
12	1/2 x 3 FULL CIRCLE REDI-CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$15.95	\$31.90	YES
	1					
13	1/2 x 6 FULL CIRCLE REDI-CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$34.35	\$68.70	YES
14	3/4 x 3 FULL CIRCLE REDI-CLAMP					Made in the USA? If not, what location?
	Supplier	ΟΤΥ	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$16.15	\$32.30	
		-	273	Ç 10.13	Ç <u>32</u> .30	125
15	3/4 x 6 FULL CIRCLE REDI-CLAMP					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$34.15	\$68.30	YES
16	1 x 3 FULL CIRCLE REDI-CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$17.25	\$34.50	YES
17	1 x 6 FULL CIRCLE REDI-CLAMP					Made in the USA If not, what location
L <u></u>	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	3	EA	\$34.45	\$103.35	
		•		ço n io	÷100.00	

	FULL CIRCLE REDI-CLAMP						If not, what location?
Supplier		QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson	Waterworks (Ferguson Enterprise)	2	EA	\$17.80	\$35.60	YES	
· · · · ·							,
	FULL CIRCLE REDI-CLAMP					Made in the USA	If not, what location
Supplier		QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson	Waterworks (Ferguson Enterprise)	2	EA	\$34.50	\$69.00	YES	
rr						r	1
	FULL CIRCLE REDI-CLAMP					Made in the USA	If not, what location
Supplier		QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson	Waterworks (Ferguson Enterprise)	2	EA	\$17.80	\$35.60	YES	
						-	,
-	FULL CIRCLE REDI-CLAMP						If not, what location?
Supplier		QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson	Waterworks (Ferguson Enterprise)	2	EA	\$35.50	\$71.00	YES	
							,
	L CIRCLE REDI-CLAMP					Made in the USA?	If not, what location?
Supplier		QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson	Waterworks (Ferguson Enterprise)	2	EA	\$19.60	\$39.20	YES	
						r	1
	L CIRCLE REDI-CLAMP					Made in the USA	If not, what location
Supplier		QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson	Waterworks (Ferguson Enterprise)	16	EA	\$36.45	\$583.20	YES	
						r	1
· · ·	FULL CIRCLE CLAMP					Made in the USA	If not, what location
Supplier		QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson	Waterworks (Ferguson Enterprise)	2	EA	\$36.75	\$73.50	YES	
						·	
	FULL CIRCLE CLAMP						If not, what location?
Supplier		QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson	Waterworks (Ferguson Enterprise)	4	EA	\$36.70	\$146.80	YES	
· · · · ·						r	· · · · · · ·
-	FULL CIRCLE CLAMP					Made in the USA	If not, what location
Supplier		QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson	Waterworks (Ferguson Enterprise)	2	EA	\$42.15	\$84.30	YES	

					F F	
27 3 x 15 FULL CIRCLE CLAMP					Made in the USA If not, what location	<u>n</u>
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$83.00	\$166.00	YES	
28 4 x 7-1/2 CI FULL CIRCLE CLAMP	-				Made in the USA? If not, what location	1?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$47.50	\$190.00	YES	
29 4 x 7-1/2 AC FULL CIRCLE CLAMP					Made in the USA? If not, what location	n?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$49.05	\$98.10	PLEASE SELECT	
30 4 x 10 FULL CIRCLE CLAMP					Made in the USA If not, what location	n
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$56.30	\$112.60	YES	
31 4 x 15 FULL CIRCLE CLAMP					Made in the USA If not, what location	n
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$90.15	\$360.60	YES	
32 6 x 7-1/2 CI FULL CIRCLE CLAMP					Made in the USA? If not, what location	1?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	20	EA	\$58.40	\$1,168.00	YES	
33 6 x 7-1/2 AC FULL CIRCLE CLAMP					Made in the USA If not, what location	n
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	21	EA	\$57.90	\$1,215.90	YES	
34 6 X 12 CI FULL CIRCLE CLAMP					Made in the USA If not, what location	n
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$93.40	\$467.00	YES	
35 6 X 12 AC FULL CIRCLE CLAMP	<u> </u>			<u> </u>	Made in the USA? If not, what location	1?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$93.40	\$467.00	YES	
36 6 x 15 CI FULL CIRCLE CLAMP					Made in the USA? If not, what location	n?
					induction and object in not, mat location	<u></u>

	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	7	EA	\$106.35	\$744.45	YES
	1					
37	6 x 15 AC FULL CIRCLE CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$107.50	\$430.00	YES
						· · · · · · · · · · · · · · · · · · ·
38	8 x 7-1/2 CI FULL CIRCLE CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	6	EA	\$69.75	\$418.50	NO
39	8 x 7-1/2 AC FULL CIRCLE CLAMP					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$66.50	\$332.50	YES
	1					· · · · · · · · · · · · · · · · · · ·
40	8 X 12 CI FULL CIRCLE CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$111.90	\$559.50	YES
	1					· · · · · · · · · · · · · · · · · · ·
41	8 X 12 AC FULL CIRCLE CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$107.75	\$538.75	YES
r	1					·
42	8 x 15 CI FULL CIRCLE CLAMP					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$128.75	\$643.75	YES
	r					·
43	8 x 15 AC FULL CIRCLE CLAMP					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$128.75	\$257.50	YES
·						· · · · · · · · · · · · · · · · · · ·
44	10 x 7-1/2 CI FULL CIRCLE CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$81.00	\$162.00	YES
·	1					
45	10 x 7-1/2 AC FULL CIRCLE CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND

	Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$81.00	\$324.00	YES
46	10 X 12 CI FULL CIRCLE CLAMP					Made in the USA? If not, what location?
40	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$132.00	\$660.00	YES
	reiguson waterworks (reiguson Linterprise)	5	LA	\$132.00	\$000.00	11.5
47	10 X 12 AC FULL CIRCLE CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$129.50	\$647.50	YES
48	10 x 15 CI FULL CIRCLE CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	3	EA	\$162.90	\$488.70	YES
49	10 x 15 AC FULL CIRCLE CLAMP					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$156.90	\$313.80	YES
50	12 x 10 FULL CIRCLE CLAMP					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$112.60	\$225.20	YES
51	12 x 12 CI FULL CIRCLE CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$151.00	\$302.00	YES
52	12 x 15 AC FULL CIRCLE CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$183.25	\$366.50	YES
53	14 x 15 CI FULL CIRCLE CLAMP					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$340.00	\$680.00	YES
54	16 x 10 CI FULL CIRCLE CLAMP					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$247.50	\$495.00	YES

55	16 x 15 CI FULL CIRCLE CLAMP					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$359.70	\$719.40	PLEASE SELECT	
56	18 x 20 FULL CIRCLE CLAMP					Made in the USA?	If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$512.00	\$1,024.00	YES	
— —							
57	20 x 20 FULL CIRCLE CLAMP						If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$514.50	\$1,029.00	YES	
58	24 x 20 FULL CIRCLE CLAMP					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$539.15	\$1,078.30	YES	
59	30 FULL CIRCLE CLAMP					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$1,097.85	\$2,195.70	YES	
60	6 X 1 REPAIR TAPPING CLAMP						If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$75.50	\$151.00	YES	
61	8 X 1 REPAIR TAPPING CLAMP					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$85.35	\$170.70	YES	
						r	
62	10 X 1 REPAIR TAPPING CLAMP					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$103.50	\$207.00	YES	
r							1
63	12 X1 REPAR TAPPING CLAMP					Made in the USA?	If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$113.00	\$226.00	YES	

1						
64	1-1/2 x 3/4 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$46.12	\$92.24	YES
65	2 x 3/4 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$35.81	\$143.24	YES
66	2 x 1 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$35.81	\$143.24	YES
67	3 x 3/4 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$34.41	\$68.82	YES
68	3 x 1 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$34.41	\$68.82	YES
69	3 x 1-1/2 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$34.41	\$68.82	YES
70	3 x 2 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$53.29	\$106.58	YES
71	4 x 3/4 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$35.53	\$142.12	YES
72	4 x 1 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	3	EA	\$35.53	\$106.59	YES
73	4 x 1-1/2 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA If not, what location
						·

	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$41.44	\$82.88	YES
74	4 x 2 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$41.44	\$82.88	YES
						· · · · · · · · · · · · · · · · · · ·
75	6 x 3/4 TAPPING SADDLE EPOXY 202 N/CC	-				Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	24	EA	\$40.81	\$979.44	YES
76	6 x 1 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	19	EA	\$40.81	\$775.39	YES
77	6 x 2 TAPPING SADDLE EPOXY 202 N/CC	<u></u>				Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	8	EA	\$48.91	\$391.28	YES
70	8 x 3/4 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA? If not, what location?
70	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	24	EA	\$48.23	\$1,157.52	YES
	reiguson waterworks (reiguson Enterprise)	24	LA	\$40.25	\$1,137.32	TL3
79	8 x 1 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	21	EA	\$48.23	\$1,012.83	YES
80	8 x 1-1/2 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$52.18	\$208.72	YES
81	8 x 2 TAPPING SADDLE EPOXY 202 N/CC					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	6	EA	\$56.93	\$341.58	YES
82	10 x 2 EPOXY SINGLE BAND STRAP/CC					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND

	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$64.39	\$128.78	YES
83	12 1/4 x 3/4 EPOXY SINGLE BAND STRAP/CC					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	6	EA	\$68.19	\$409.14	YES
84	12 1/4 X 1 EPOXY SINGLE BAND STRAP/CC					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$68.19	\$681.90	YES
85	12 1/4 x 2 EPOXY SINGLE BAND STRAP/CC					Made in the USA? If not, what location?
	Supplier	ΟΤΥ	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	6	EA	\$74.01	\$444.06	YES
		Ū	_,,	<i>\\</i>	<i>\</i>	
86	20 x 3/4 EPOXY SINGLE BAND STRAP/CC					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$146.05	\$292.10	YES
87	30 x 1 TAPPING SADDLE/CC					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$341.08	\$682.16	YES
						
88	24 x 3/4 CC EPOXY SINGLE BAND STRAP/CC					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$168.52	\$337.04	YES
89	24 x 2 CC TAPPING SADDLE/CC	071				Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	1	EA	\$175.38	\$175.38	YES
90	2 SDR 21 CL 200 PVC GJ WHITE PIPE					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$0.45	\$45.00	YES
91	3 SDR 21 CL 200 PVC GJ WHITE PIPE					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$0.92	\$92.00	YES

	Γ					
92	4 C900 PVC PIPE DR 18					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$2.66	\$266.00	YES
93	6 C900 PVC PIPE DR 18					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	500	EA	\$5.18	\$2,590.00	YES
94	8 C900 PVC PIPE DR 18	071/			<u> </u>	Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	200	EA	\$8.91	\$1,782.00	YES
95	12 C900 PVC PIPE DR18					Made in the USA? If not, what location?
55	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$19.15	\$1,915.00	YES
	reiguson waterworks (reiguson Enterprise)	100	LA	\$13.13	\$1,915.00	11.5
96	14 C900 PVC PIPE DR 18					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	40	EA	\$24.66	\$986.40	YES
97	16 C 900 PVC PIPE DR 18					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	40	EA	\$31.77	\$1,270.80	YES
-	n					r
98	1/2 RUBBER BOOT					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$4.17	\$8.34	YES
99	3/4 RUBBER BOOT					Made in the USA? If not, what location?
33	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	••	2	EA			
	Ferguson Waterworks (Ferguson Enterprise)	2	ĊA	\$4.34	\$8.68	YES
100	1 RUBBER BOOT					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$4.56	\$9.12	YES
				7	, -	

101	1-1/4 RUBBER BOOT					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
102	1-1/2 RUBBER BOOT					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$6.84	\$13.68	PLEASE SELECT
103	2 RUBBER BOOT					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$7.03	\$14.06	YES
104	1/2 2-BOLT DRESSER					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$16.86	\$33.72	YES
105	3/4 2-BOLT DRESSER					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	9	EA	\$19.29	\$173.61	YES
106	1 2-BOLT DRESSER					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	17	EA	\$20.61	\$350.37	YES
107	1-1/4 2-BOLT DRESSER					Made in the USA? If not, what location?
•	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$21.59	\$43.18	YES
108	1-1/2 2-BOLT DRESSER					Made in the USA? If not, what location?
•	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$25.22	\$100.88	YES
109	2 2-BOLT DRESSER					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	40	EA	\$29.20	\$1,168.00	YES
110	2 3-BOLT DRESSER					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND

Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$36.54	\$73.08	YES
111 2 X 12 1/2-DRESSER					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$67.10	\$134.20	YES
112 6 x 13 ANCHOR COUPLING					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	20	EA	\$126.58	\$2,531.60	YES
113 SOLID MJ SLEEVE 4 X 12					Made in the USA If not, what location
Supplier	ΟΤΥ	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$61.29	\$245.16	YES
	•	2, (<i>\\</i>	φ <u>2</u> 10110	
114 SOLID MJ SLEEVE 6 X 12					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	22	EA	\$91.58	\$2,014.76	YES
					·
115 SOLID MJ SLEEVE 8 X 12					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	9	EA	\$120.97	\$1,088.73	YES
116 SOLID MJ SLEEVE 10 X 12	ΟΤΥ	UOM	Unit Price	Extended	Made in the USA If not, what location
Supplier Ferguson Waterworks (Ferguson Enterprise)	QTY 2	EA	\$174.05	\$348.10	
reiguson waterworks (reiguson enterprise)	2	EA	\$174.05	\$546.10	163
117 SOLID MJ SLEEVE 12 X 12					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$242.27	\$2,422.70	YES
118 SOLID MJ SLEEVE 14 X 12					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$260.54	\$521.08	NO INDIA
119 SOLID MJ SLEEVE 16 X 12					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$282.40	\$564.80	NO INDIA

	O SOLID MJ SLEEVE					Made in the USA	If not, what location
	upplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
F	erguson Waterworks (Ferguson Enterprise)	2	EA	\$1,168.82	\$2,337.64	NO	INDIA
	FIRE HYDRANT/MCKINNEY SPEC						If not, what location?
	upplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
F	erguson Waterworks (Ferguson Enterprise)	4	EA	\$1,599.32	\$6,397.28	YES	
	FIRE HYDRANT/MCKINNEY SPEC						If not, what location?
	upplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
F	erguson Waterworks (Ferguson Enterprise)	5	EA	\$1,710.41	\$8,552.05	YES	
							1
	FIRE HYDRANT/MCKINNEY SPEC					Made in the USA	If not, what location
	upplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
F	erguson Waterworks (Ferguson Enterprise)	5	EA	\$1,808.84	\$9,044.20	YES	
	2 FIRE HYDRANT EXTENSION					Made in the USA	If not, what location
	upplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
F	erguson Waterworks (Ferguson Enterprise)	6	EA	\$284.21	\$1,705.26	YES	
							1
LL	FIRE HYDRANT EXTENSION					Made in the USA?	If not, what location?
	upplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
F	erguson Waterworks (Ferguson Enterprise)	5	EA	\$247.37	\$1,236.85	YES	
							1
L	8 FIRE HYDRANT EXTENSION					Made in the USA	If not, what location
	upplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
F	erguson Waterworks (Ferguson Enterprise)	5	EA	\$335.11	\$1,675.55	YES	
						1	1
	4 FIRE HYDRANT EXTENSION					Made in the USA	If not, what location
	upplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
F	erguson Waterworks (Ferguson Enterprise)	2	EA	\$373.68	\$747.36	YES	
						1	
128 F	IRE HYDRANT CAP/MCKINNEY SPEC					Made in the USA?	If not, what location?
\$	upplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	erguson Waterworks (Ferguson Enterprise)				\$389.58		

129 IM&H FH TRAFFIC REPAIR KIT Made in the USA? [if not, what location? Supplier QTY UOM Unit Price Extended YES 130 IMUELLER FH TRAFFIC REPAIR KIT Made in the USA [if not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 131 IMATEROUS FH TRAFFIC REPAIR KIT Made in the USA [if not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND								
Ferguson Waterworks (Ferguson Enterprise) 5 EA \$80.00 \$400.00 YES 130 MUELLER FH TRAFFIC REPAIR KIT Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) S0 EA \$130.43 \$6,521.50 131 WATEROUS FH TRAFFIC REPAIR KIT Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) S0 EA \$88.63 \$4,431.50 132 CLOW FH TRAFFIC REPAIR KIT Made in the USA [If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) S EA \$182.00 \$910.00 YES 133 AVK FH TRAFFIC REPAIR KIT Made in the USA If not, what location PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) Z EA \$167.05 \$334.10 YES 134 MRH FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what locatio	129						Made in the USA?	If not, what location?
130 MUELLER FH TRAFFIC REPAIR KIT Made in the USA f not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 50 EA \$130.43 \$6,521.50 131 WATEROUS FH TRAFFIC REPAIR KIT Made in the USA f not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 50 EA \$88.63 \$4,431.50 132 CLOW FH TRAFFIC REPAIR KIT Made in the USA If not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended YES 133 AVK FH TRAFFIC REPAIR KIT Made in the USA If not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY		Supplier	QTY	UOM	Unit Price			
Supplier QTY UOM Unit Price Extended PLEASE RESPOND 131 WATEROUS FH TRAFFIC REPAIR KIT Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 50 EA \$88.63 \$4,431.50 132 CLOW FH TRAFFIC REPAIR KIT Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 5 EA \$182.00 \$910.00 Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 5 EA \$182.00 \$910.00 YES 133 AVK FH TRAFFIC REPAIR KIT Made in the USA If not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$167.05 \$334.10 YES 134 M&H FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what l		Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$80.00	\$400.00	YES	
Ferguson Waterworks (Ferguson Enterprise) 50 EA \$130.43 \$6,521.50 YES 131 WATEROUS FH TRAFFIC REPAIR KIT Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 50 EA \$88.63 \$4,431.50 YES 132 CLOW FH TRAFFIC REPAIR KIT Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 5 EA \$182.00 \$910.00 YES 133 AVK FH TRAFFIC REPAIR KIT Made in the USA If not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$167.05 \$334.10 YES 134 M&H FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? YES 135 MUELLER FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location?	130	MUELLER FH TRAFFIC REPAIR KIT					Made in the USA	If not, what location
131 WATEROUS FH TRAFFIC REPAIR KIT Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 50 EA \$88.63 \$4,431.50 Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND 133 AVK FH TRAFFIC REPAIR KIT Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$167.05 \$334.10 Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$167.05 \$34.10 YES 133 MUELLER FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND <t< td=""><td></td><td>Supplier</td><td>QTY</td><td>UOM</td><td>Unit Price</td><td>Extended</td><td>PLEASE RESPOND</td><td></td></t<>		Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Supplier QTY UOM Unit Price Extended PLEASE RESPOND 132 CLOW FH TRAFFIC REPAIR KIT Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 5 EA \$182.00 \$910.00 133 AVK FH TRAFFIC REPAIR KIT Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$167.05 \$334.10 YES Made in the USA If not, what location PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$167.05 \$334.10 YES Made in the USA If not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$360.51 \$721.02 YES 1315 MUELLER FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY		Ferguson Waterworks (Ferguson Enterprise)	50	EA	\$130.43	\$6,521.50	YES	
Ferguson Waterworks (Ferguson Enterprise) 50 EA \$88.63 \$4,431.50 YES 132 CLOW FH TRAFFIC REPAIR KIT Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 5 EA \$182.00 \$910.00 YES 133 AVK FH TRAFFIC REPAIR KIT Made in the USA If not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$167.05 \$334.10 YES 134 M&H FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$360.51 \$721.02 YES 135 MUELLER FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND <td>131</td> <td>WATEROUS FH TRAFFIC REPAIR KIT</td> <td></td> <td></td> <td></td> <td></td> <td>Made in the USA</td> <td>If not, what location</td>	131	WATEROUS FH TRAFFIC REPAIR KIT					Made in the USA	If not, what location
132 CLOW FH TRAFFIC REPAIR KIT Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 5 EA \$182.00 \$910.00 133 AVK FH TRAFFIC REPAIR KIT Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$167.05 \$334.10 134 M&H FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$360.51 \$721.02 Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY	ų	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Supplier QTY UOM Unit Price Extended PLEASE RESPOND 133 AVK FH TRAFFIC REPAIR KIT Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$167.05 \$334.10 134 M&H FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$167.05 \$334.10 134 M&H FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 135 MUELLER FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$417.32 \$16,692.80 YES 136 WATEROUS FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If no		Ferguson Waterworks (Ferguson Enterprise)	50	EA	\$88.63	\$4,431.50	YES	
Ferguson Waterworks (Ferguson Enterprise) 5 EA \$182.00 \$910.00 YES 133 AVK FH TRAFFIC REPAIR KIT Image: mail of the term of	132	CLOW FH TRAFFIC REPAIR KIT					Made in the USA?	If not, what location?
133 AVK FH TRAFFIC REPAIR KIT Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$167.05 \$334.10 YES 134 M&H FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$360.51 \$721.02 YES 135 MUELLER FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$417.32 \$16,692.80 YES 136 WATEROUS FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY UOM Unit Price Extended YES 137 CLOW FH M		Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$167.05 \$334.10 YES 134 M&H FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$360.51 \$721.02 YES 135 MUELLER FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$417.32 \$16,692.80 YES 136 WATEROUS FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$638.34 \$25,533.60 YES 137 CLOW FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location </td <td></td> <td>Ferguson Waterworks (Ferguson Enterprise)</td> <td>5</td> <td>EA</td> <td>\$182.00</td> <td>\$910.00</td> <td>YES</td> <td></td>		Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$182.00	\$910.00	YES	
Ferguson Waterworks (Ferguson Enterprise) 2 EA \$167.05 \$334.10 YES 134 M&H FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$360.51 \$721.02 YES 135 MUELLER FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$417.32 \$16,692.80 YES 136 WATEROUS FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$638.34 \$25,533.60 YES 137 CLOW FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND </td <td>133</td> <td>AVK FH TRAFFIC REPAIR KIT</td> <td></td> <td></td> <td></td> <td></td> <td>Made in the USA</td> <td>If not, what location</td>	133	AVK FH TRAFFIC REPAIR KIT					Made in the USA	If not, what location
134 M&H FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$360.51 \$721.02 135 MUELLER FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 40 EA \$417.32 \$16,692.80 136 WATEROUS FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 40 EA \$638.34 \$25,533.60 137 CLOW FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 40		Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$360.51 \$721.02 YES 135 MUELLER FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$417.32 \$16,692.80 YES 136 WATEROUS FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 40 EA \$638.34 \$25,533.60 Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$638.34 \$25,533.60 YES 137 CLOW FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguso		Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$167.05	\$334.10	YES	
Ferguson Waterworks (Ferguson Enterprise) 2 EA \$360.51 \$721.02 YES 135 MUELLER FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$417.32 \$16,692.80 YES 136 WATEROUS FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$638.34 \$25,533.60 YES 137 CLOW FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 137 CLOW FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Ferguson Waterworks (Ferguson Enterprise) 2 EA \$308.53 \$617.06 YES <	134	M&H FH MAIN VALVE REPAIR KIT SEAT AND HOL	JSING				Made in the USA	If not, what location
135 MUELLER FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 40 EA \$417.32 \$16,692.80 136 WATEROUS FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 40 EA \$638.34 \$25,533.60 137 CLOW FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$308.53 \$617.06 YES Extended YES YES YES	8	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$417.32 \$16,692.80 YES 136 WATEROUS FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$638.34 \$25,533.60 YES 137 CLOW FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$308.53 \$617.06 Ferguson Waterworks (Ferguson Enterprise) 2 EA \$308.53 \$617.06		Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$360.51	\$721.02	YES	
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$417.32 \$16,692.80 YES 136 WATEROUS FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$638.34 \$25,533.60 YES 137 CLOW FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$308.53 \$617.06 Ferguson Waterworks (Ferguson Enterprise) 2 EA \$308.53 \$617.06	135	MUELLER FH MAIN VALVE REPAIR KIT SEAT AND	HOUSIN	IG			Made in the USA?	If not, what location?
136 WATEROUS FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 40 EA \$638.34 \$25,533.60 137 CLOW FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$308.53 \$617.06 YES YES YES YES YES		Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$638.34 \$25,533.60 YES 137 CLOW FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$308.53 \$617.06 YES		Ferguson Waterworks (Ferguson Enterprise)	40	EA	\$417.32	\$16,692.80	YES	
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 40 EA \$638.34 \$25,533.60 YES 137 CLOW FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$308.53 \$617.06 YES	136	WATEROUS FH MAIN VALVE REPAIR KIT SEAT AN	D HOUS	SING			Made in the USA?	If not, what location?
Ferguson Waterworks (Ferguson Enterprise) 40 EA \$638.34 \$25,533.60 YES 137 CLOW FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$308.53 \$617.06 YES					Unit Price	Extended		
SupplierQTYUOMUnit PriceExtendedPLEASE RESPONDFerguson Waterworks (Ferguson Enterprise)2EA\$308.53\$617.06YES			40	EA	\$638.34	\$25,533.60	YES	
Ferguson Waterworks (Ferguson Enterprise) 2 EA \$308.53 \$617.06	137	CLOW FH MAIN VALVE REPAIR KIT SEAT AND HO	USING				Made in the USA	If not, what location
		Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
138 AVK FH MAIN VALVE REPAIR KIT SEAT AND HOUSING Made in the USA If not, what location		Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$308.53	\$617.06	YES	
	138	AVK FH MAIN VALVE REPAIR KIT SEAT AND HOU	SING				Made in the USA	If not, what location

Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	1	EA	\$450.00	\$450.00	YES
139 TNEMEC GLOSS SAFETY YELLOW					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$85.00	\$425.00	YES
140 TNEMEC GLOSS SAFETY RED					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$85.00	\$170.00	YES
r r					·
141 TNEMEC GLOSS SAFETY BLUE					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	15	EA	\$85.00	\$1,275.00	YES
					·
142 TNEMEC GLOSS DIFFUSED ALUMINUM					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	15	EA	\$85.00	\$1,275.00	YES
143 SHORTY VALVE BOX/DOMESTIC BRAND					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	102	EA	\$53.00	\$5,406.00	YES
144 VALVE STACK COVER/DOMESTIC BRAND					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	20	EA	\$17.39	\$347.80	YES
145 1 VALVE STACK RISER/DOMESTIC BRAND					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	41	EA	\$21.46	\$879.86	YES
146 2 VALVE STACK RISER/DOMESTIC BRAND	OTV			Futon de d	Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	
Ferguson Waterworks (Ferguson Enterprise)	66	EA	\$29.24	\$1,929.84	YES
147 3 VALVE STACK RISER/DOMESTIC BRAND					Made in the USA If not, what location
	ΟΤΥ	UOM	Unit Price	Extended	PLEASE RESPOND
Supplier	ųn		Unit Price	Extended	

Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$36.74	\$73.48	YES
148 4 VALVE STACK RISER/DOMESTIC BRAND					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	44	EA	\$44.56	\$1,960.64	YES
149 6 VALVE STACK RISER/DOMESTIC BRAND					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	32	EA	\$59.03	\$1,888.96	YES
150 2 THREADED VALVE					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	9	EA	\$223.40	\$2,010.60	YES
151 3 BRASS GATE VALVE					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$121.69	\$243.38	YES
152 3 MJ VALVE					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$328.80	\$657.60	YES
153 4 MJ VALVE					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$367.40	\$734.80	YES
5 (5 1 ,					
154 6 MJ VALVE					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	18	EA	\$468.62	\$8,435.16	YES
			¥ ····-	+-,	
155 8 MJ VALVE					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	7	EA	\$746.37	\$5,224.59	
			,	, , ,	
156 10 MJ VALVE					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$1,127.75	\$2,255.50	
reiguson water works (reiguson Enterprise)	2		Ŷ±,±27.7J	<i>72,233.30</i>	

157 12 MJ VALVE	-					If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$1,472.55	\$5,890.20	YES	
158 3/4 COMP ANGLE STOP (110 COMPRESSION) br	-					If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	400	EA	\$59.52	\$23,808.00	YES	
					· · · · · · · · · · · · · · · · · · ·	
159 1 COMP ANGLE STOP (110 COMPRESSION) bras		If not, what location				
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	350	EA	\$89.32	\$31,262.00	YES	
					· · · · · · · · · · · · · · · · · · ·	
160 1-1/2 COMP ANGLE STOP (110 COMPRESSION)		d free			Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$178.51	\$357.02	YES	
161 2 COMP ANGLE STOP (110 COMPRESSION) bras	Made in the USA	If not, what location				
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	45	EA	\$232.38	\$10,457.10	YES	
162 1/2 I X I CURBSTOP brass/lead free					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	No Bid		YES	
					. <u></u>	
163 1/2 C X I CURBSTOP brass/lead free					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	No Bid		NO	
164 1/2 COMP X IP CURBSTOP brass/lead free					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	No Bid		NO	
165 3/4 I x I CURBSTOP brass/lead free					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	14	EA	\$41.28	\$577.92	YES	

(TY 5 (TY (TY	UOM EA UOM EA UOM EA	Unit Price \$46.29 Unit Price \$47.12 Unit Price \$54.06	Extended \$1,157.25 Extended \$94.24 Extended	Made in the USA If not, what location PLEASE RESPOND YES Made in the USA? If not, what location? PLEASE RESPOND YES Made in the USA If not, what location? PLEASE RESPOND YES Made in the USA If not, what location PLEASE RESPOND
5 (TY (TY	EA UOM EA	\$46.29 Unit Price \$47.12 Unit Price	\$1,157.25 Extended \$94.24 Extended	YES Made in the USA? If not, what location? PLEASE RESPOND YES Made in the USA If not, what location
TY TY	UOM EA	Unit Price \$47.12 Unit Price	Extended \$94.24 Extended	Made in the USA? If not, what location? PLEASE RESPOND YES Made in the USA If not, what location
TY	EA	\$47.12 Unit Price	\$94.24 Extended	PLEASE RESPOND YES Made in the USA If not, what location
TY	EA	\$47.12 Unit Price	\$94.24 Extended	YES Made in the USA If not, what location
TY	UOM	Unit Price	Extended	Made in the USA If not, what location
•				
•				
	EA	\$54.06		
			\$108.12	PLEASE SELECT
				Made in the USA If not, what location
TY	UOM	Unit Price	Extended	PLEASE RESPOND
	EA	\$63.00	\$378.00	YES
				Made in the USA? If not, what location?
TY	UOM	Unit Price	Extended	PLEASE RESPOND
0	EA	\$67.53	\$1,350.60	YES
				Made in the USA? If not, what location?
TY	UOM	Unit Price	Extended	PLEASE RESPOND
	EA	\$106.38	\$212.76	YES
				Made in the USA If not, what location
TY	UOM	Unit Price	Extended	PLEASE RESPOND
	EA	\$124.37	\$248.74	YES
				Made in the USA If not, what location
ŢΥ	UOM	Unit Price	Extended	PLEASE RESPOND
	EA	\$147.42	\$294.84	YES
				Made in the USA? If not, what location?
ŢΥ	UOM	Unit Price	Extended	PLEASE RESPOND
2	EA	\$181.55	\$2,178.60	YES
				Made in the USA If not, what location
	TY TY TY TY	TY UOM EA TY UOM EA TY UOM EA TY UOM EA	EA\$63.00TYUOMUnit PriceDEA\$67.53TYUOMUnit PriceEA\$106.38TYUOMUnit PriceEA\$124.37TYUOMUnit PriceEA\$124.37TYUOMUnit PriceEA\$147.42TYUOMUnit Price	EA\$63.00\$378.00TYUOMUnit PriceExtendedDEA\$67.53\$1,350.60TYUOMUnit PriceExtendedEA\$106.38\$212.76TYUOMUnit PriceExtendedEA\$124.37\$248.74TYUOMUnit PriceExtendedEA\$147.42\$294.84TYUOMUnit PriceExtendedTYUOMUnit PriceExtended

Ferguson Waterworks (Ferguson Enterprise) 10 EA \$210.79 \$2,107.90 YES 176 3/4 FL CORP brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$23.15 \$46.30 YES 177 3/4 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 180 EA \$25.37 \$4,566.60 PLEASE SELECT 178 3/4 CORP IP x COMP (110 COMPRESSION)H15028 brass/lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA If not, what location	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$23.15 \$46.30 YES 177 3/4 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 180 EA \$25.37 \$4,566.60 PLEASE SELECT 178 3/4 CORP IP x COMP (110 COMPRESSION)H15028 brass/lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA? If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location	Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$210.79	\$2,107.90	YES
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$23.15 \$46.30 YES 177 3/4 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 180 EA \$25.37 \$4,566.60 PLEASE SELECT 178 3/4 CORP IP x COMP (110 COMPRESSION)H15028 brass/lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA? If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location						
Ferguson Waterworks (Ferguson Enterprise) 2 EA \$23.15 \$46.30 YES 177 3/4 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA? [if not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 180 EA \$25.37 \$4,566.60 178 3/4 CORP IP x COMP (110 COMPRESSION)H15028 brass/lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA? If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 140 EA \$38.41 \$5,377.40 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Uni	176 3/4 FL CORP brass/lead free					Made in the USA If not, what location
177 3/4 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 180 EA \$25.37 \$4,566.60 178 3/4 CORP IP x COMP (110 COMPRESSION)H15028 brass/lead free Made in the USA? If not, what location? 178 3/4 CORP IP x COMP (110 COMPRESSION)H15028 brass/lead free Made in the USA? If not, what location? 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA If not, what location 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 180 EA \$25.37 \$4,566.60 PLEASE SELECT 178 3/4 CORP IP x COMP (110 COMPRESSION)H15028 brass/lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$23.15	\$46.30	YES
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 180 EA \$25.37 \$4,566.60 PLEASE SELECT 178 3/4 CORP IP x COMP (110 COMPRESSION)H15028 brass/lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND		·				
Ferguson Waterworks (Ferguson Enterprise) 180 EA \$25.37 \$4,566.60 PLEASE SELECT 178 3/4 CORP IP x COMP (110 COMPRESSION)H15028 brass/lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 140 EA \$38.41 \$5,377.40 YES 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND		Made in the USA? If not, what location?				
178 3/4 CORP IP x COMP (110 COMPRESSION)H15028 brass/lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 140 EA \$38.41 \$5,377.40 YES 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND	••		UOM			PLEASE RESPOND
Supplier QTY UOM Unit Price Extended PLEASE RESPOND 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 140 EA \$38.41 \$5,377.40 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND	Ferguson Waterworks (Ferguson Enterprise)	180	EA	\$25.37	\$4,566.60	PLEASE SELECT
Supplier QTY UOM Unit Price Extended PLEASE RESPOND 179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 140 EA \$38.41 \$5,377.40 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND						· · · · · · · · · · · · · · · · · · ·
179 1 COMP CORP (110 COMPRESSION) H15008 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 140 EA \$38.41 \$5,377.40 YES 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND		-				
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 140 EA \$38.41 \$5,377.40 YES 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 140 EA \$38.41 \$5,377.40 YES 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND						
Ferguson Waterworks (Ferguson Enterprise) 140 EA \$38.41 \$5,377.40 YES 180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND						
180 1 CORP IP x COMP (110 COMPRESSION) H15028 brass/lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND	••					
Supplier QTY UOM Unit Price Extended PLEASE RESPOND	Ferguson Waterworks (Ferguson Enterprise)	140	EA	\$38.41	\$5,377.40	YES
Supplier QTY UOM Unit Price Extended PLEASE RESPOND						
••		-				
Ferguson Waterworks (Ferguson Enterprise)2EA\$38.41\$76.82YES	••	•				
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$38.41	\$76.82	YES
		ad free				Made in the UCA2 of net what leasting?
181 1-1/2 COMP CORP (110 COMPRESSION) brass/lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND				Linit Drice	Extended	
	••	•				
Ferguson Waterworks (Ferguson Enterprise)2EA\$106.57\$213.14YES	rerguson waterworks (rerguson Enterprise)	2	EA	\$100.57	\$213.14	TES
182 2 COMP CORP IP (110 COMPRESSION) brass/lead free Made in the USA If not, what location	182 2 COMP COPP ID (110 COMPRESSION) brass/lea	d fraa				Made in the USA life not what location
Supplier QTY UOM Unit Price Extended PLEASE RESPOND			UOM	Linit Price	Extended	
Ferguson Waterworks (Ferguson Enterprise) 7 EA \$176.24 \$1,233.68 YES	••	•				
	reiguson waterworks (reiguson Enterprise)	,	LA	Ϋ́Τ/0.24	Ŷ1,233.00	
183 2 COMP CORP CC (110 COMPRESSION) brass/lead free Made in the USA If not, what location	183 2 COMP CORP CC (110 COMPRESSION) brass/lea	d free				Made in the USA If not, what location
Supplier QTY UOM Unit Price Extended PLEASE RESPOND	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)24EA\$180.07\$4,321.68YES	Ferguson Waterworks (Ferguson Enterprise)	24	EA	\$180.07	\$4,321.68	YES
184 1/2 BRASS CAP lead free Made in the USA? If not, what location?	184 1/2 BRASS CAP lead free					Made in the USA? If not, what location?
Supplier QTY UOM Unit Price Extended PLEASE RESPOND	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)2EA\$2.97\$5.94YES	Forguson Waterworks (Forguson Enterprise)	2	FΔ	\$2.97	\$5.94	VES

185 3/4 BRASS CAP lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$3.74	\$7.48	YES
186 1 BRASS CAP lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$6.78	\$13.56	YES
187 1-1/4 BRASS CAP lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$11.00	\$22.00	YES
188 1-1/2 BRASS CAP lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$14.73	\$29.46	YES
189 2 BRASS CAP lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$25.26	\$50.52	YES
190 2-1/2 BRASS CAP lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$48.47	\$96.94	YES
191 3 BRASS CAP lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$74.94	\$149.88	YES
192 1/2 BRASS PLUG CORP lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$2.79	\$5.58	YES
193 1/2 BRASS PLUG CORP lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$14.00	\$28.00	YES

194 3/4 BRASS PLUG lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$3.51	\$7.02	YES
195 3/4 BRASS PLUG CORP lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$15.00	\$30.00	YES
196 1 BRASS PLUG lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$5.73	\$11.46	YES
197 1 BRASS PLUG CORP lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$15.50	\$31.00	YES
198 1-1/4 BRASS PLUG lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$7.87	\$15.74	PLEASE SELECT
199 1-1/2 BRASS PLUG lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$9.83	\$19.66	YES
200 2 BRASS PLUG lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$16.47	\$32.94	YES
201 3/4 x 1/2 BELL REDUCER brass lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$5.98	\$11.96	YES
202 1 x 3/4 BELL REDUCER brass lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$9.72	\$38.88	YES
203 1 x 1/2 BELL REDUCER brass lead free					Made in the USA If not, what location

Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$9.72	\$19.44	YES
204 1-1/4 x 1 BELL REDUCER brass lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$20.81	\$41.62	YES
r					
205 1-1/4 x 3/4 BELL REDUCER brass lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$20.81	\$41.62	YES
					· · · · · · · · · · · · · · · · · · ·
206 1-1/4 x 1/2 BELL REDUCER brass lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$22.20	\$44.40	YES
207 1-1/2 x 1/2 BELL REDUCER brass lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$27.32	\$54.64	YES
208 1-1/2 x 1 BELL REDUCER brass lead free	071			<u> </u>	Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$24.41	\$48.82	YES
					Made in the USA? If not, what location?
209 1-1/2 x 1-1/4 BELL REDUCER brass lead free Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$24.41	\$48.82	YES
reiguson water works (reiguson Enterprise)	2	LA	Ş24.41	\$40.02	TL3
210 2 x 1/2 BELL REDUCER brass lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$42.70	\$85.40	YES
	-	273	ų i <u>2</u> o	Ç00110	125
211 2 x 3/4 BELL REDUCER brass lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$42.70	\$85.40	YES
			· · · · · · ·	+	
212 2 x 1 BELL REDUCER brass lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	•				

Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$42.70	\$85.40	YES
					Made in the USA If not, what location
213 2 x 1-1/4 BELL REDUCER brass lead free	071/			Cutou de d	,
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$39.54	\$79.08	YES
214 2 x 1-1/2 BELL REDUCER brass lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$39.54	\$79.08	YES
215 3 X 2 BELL REDUCER brass lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$84.41	\$168.82	YES
216 4 X 3 BELL REDUCER brass lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$200.00	\$400.00	YES
217 3/4 X 1/2 BUSHING BRASS lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
••	•				
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$4.50	\$9.00	YES
218 1 x 1/2 BUSHING BRASS lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$5.25	\$10.50	YES
219 1 x 3/4 BUSHING BRASS lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$5.25	\$21.00	YES
220 1 x 3/4 CC BUSHING BRASS lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$9.79	\$19.58	YES
221 1-1/4 x 1/2 BUSHING BRASS lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$8.86	\$17.72	
reiguson waterworks (reiguson enterprise)	2	ĽA	\$0.0C	\$17.72	TL3

222 1-1/4 x 3/4 BUSHING BRASS lead free	-				Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$8.86	\$17.72	YES
223 1-1/4 x 1 BUSHING BRASS lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$12.50	\$25.00	YES
	2	LA	Ş12.50	Ş25.00	
224 1-1/2 x 1/2 BUSHING BRASS lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$21.87	\$43.74	YES
225 1-1/2 x 3/4 BUSHING BRASS lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$21.87	\$43.74	PLEASE SELECT
226 1-1/2 x 1 BUSHING BRASS lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$21.87	\$43.74	YES
227 1-1/2 X 1-1/4 BUSHING BRASS lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$21.87	\$43.74	YES
228 2 1 /2 DUCUING DDASS load free					Made in the USA If not, what location
228 2 x 1/2 BUSHING BRASS lead free Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$24.36	\$48.72	YES
reiguson waterworks (reiguson enterprise)	2	EA	\$24.50	\$46.72	TES .
229 2 x 3/4 BUSHING BRASS lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$16.37	\$32.74	YES
230 2 x 1 BUSHING BRASS lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$16.37	\$32.74	YES

231	2 x 1-1/4 BUSHING BRASS lead free					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$15.52	\$31.04	YES	
232	2 x 1-1/2 BUSHING BRASS lead free					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$15.52	\$62.08	YES	
233	2 x 1-1/2 CC BUSHING BRASS lead free					Made in the USA?	If not, what location?
-	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$57.67	\$115.34	YES	
234	1 1/2 X 1 CC BUSHING BRASS lead free					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$39.62	\$79.24	YES	
235	3 X 2 1/2 BUSHINB BRASS lead free					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$57.09	\$114.18	YES	
236	2-1/2 x 2 BUSHING BRASS lead free					Made in the USA?	If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$39.19	\$78.38	YES	
237	2 X 1 CC BUSHING BRASS lead free					Made in the USA?	If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$56.02	\$112.04	YES	
238	1/2 COMP X COM COUPLING (110 COMPRESSION	l) brass	lead free			Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$17.09	\$34.18	YES	
239	3/4 COMP x COMP COUPLING (110 COMPRESSIO	N) brass	s lead free			Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	50	EA	\$14.17	\$708.50	YES	
240	1 COMP x COMP COUPLING (110 COMPRESSION)	brass le	ead free			Made in the USA?	If not, what location?

16.81

15.42

Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$15.46	\$1,546.00	YES
241 1-1/2 COMP x COMP COUPLING (110 COMPRES	SSION)bra	ss lead free	•		Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$53.35	\$106.70	YES
242 2 COMP x COMP COUPLING (110 COMPRESSIO	-				Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	30	EA	\$73.62	\$2,208.60	YES
243 1/2 BRASS COUPLING lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$3.55	\$17.75	YES
244 3/4 BRASS COUPLING lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$4.98	\$24.90	YES
245 1 BRASS COUPLING lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$8.49	\$16.98	YES
· - 8	_		7000	7	
246 1 1/4 BRASS COUPLING lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$14.17	\$28.34	YES
247 1-1/2 BRASS COUPLING lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$18.44	\$36.88	YES
248 2 BRASS COUPLING lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$30.49	\$60.98	YES
249 2 1/2 BRASS COUPLING lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND

Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$51.95	\$103.90	YES
250 3 BRASS COUPLING lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$71.26	\$142.52	YES
251 3/4 COMP x MIP COUPLING (110 COMPRESSION	-	ead free			Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	22	EA	\$11.62	\$255.64	YES
					Reads in the UCA of net what leasting
252 3/4 COMP x FIP COUPLING (110 COMPRESSION				Cut and a d	Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	
Ferguson Waterworks (Ferguson Enterprise)	44	EA	\$12.44	\$547.36	YES
253 3/4 90 MIP X COUPLING brass lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	19	EA	\$12.08	\$229.52	YES
· • · 8 · • • • • • • • • • • • • • • •	10		<i>¥</i> 11 00	710101	
254 1 C X 1 FEMALE ADAPTER brass lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$15.61	\$31.22	YES
255 1 COMP x MIP COUPLING (110 COMPRESSION)	brass lea	d free			Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	40	EA	\$13.72	\$548.80	YES
					· · · · · · · · · · · · · · · · · · ·
256 1 COMP x FIP COUPLING (110 COMPRESSION) b		free			Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	16	EA	\$17.80	\$284.80	YES
257 1-1/2 COMP X MIP COUPLING (110 COMPRESSI	-				Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$35.99	\$71.98	YES
	N) hree-	lood free			Made in the USA? If not, what location?
258 1-1/2 COMP x FIP COUPLING (110 COMPRESSIO		UOM	Unit Price	Extended	PLEASE RESPOND
Supplier	QTY			Extended	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$46.02	\$92.04	YES

259	2 COMP X MIP COUPLING (110 COMPRESSION) b	Made in the USA	If not, what location				
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	27	EA	\$54.11	\$1,460.97	YES	
260	2 COMP x FIP COUPLING (110 COMPRESSION) br					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$56.59	\$282.95	YES	
261	1/2 ALL BRASS NIPPLE lead free					Made in the USA?	If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$0.82	\$1.64	YES	
		-	L/V	Ş0.02	Ŷ1.04	125	
262	1/2 x 2 BRASS NIPPLE lead free					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$1.12	\$2.24	YES	
						-	
263	1/2 x 4 BRASS NIPPLE lead free					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$2.05	\$4.10	YES	
264	1/2 x 6 BRASS NIPPLE lead free					Made in the USA2	If not, what location?
204	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$2.99	\$5.98		
		2	LA	<i>42.33</i>	Ş3.50	125	
265	3/4 ALL BRASS NIPPLE lead free					Made in the USA?	If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$1.23	\$12.30	PLEASE SELECT	
266	3/4 x 2 BRASS NIPPLE lead free		-			Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$1.55	\$15.50	YES	
267	3/4 x 4 BRASS NIPPLE lead free					Made in the USA	If not, what location
207	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$2.70	\$5.40	PLEASE SELECT	
	rengason water works (rengason Enterprise)	-	L/ \	92.70			

268 3/4 x 6 BRASS NIPPLE lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$3.94	\$7.88	YES
269 1 ALL BRASS NIPPLE lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$1.82	\$3.64	YES
270 1 x 2 BRASS NIPPLE lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$2.24	\$22.40	YES
271 1 x 4 BRASS NIPPLE lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$3.91	\$39.10	YES
272 1 x 6 BRASS NIPPLE lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$5.77	\$57.70	YES
273 1-1/4 ALL BRASS NIPPLE lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$2.74	\$5.48	YES
274 1-1/4 x 2 BRASS NIPPLE lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$3.13	\$6.26	YES
275 1-1/4 x 4 BRASS NIPPLE lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$5.51	\$11.02	YES
276 1-1/4 x 6 BRASS NIPPLE lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Supplier					
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$8.04	\$16.08	YES

Ferguson Waterworks (Ferguson Enterprise) 2 EA \$3.56 \$7.12 YES 278 1-1/2 x 2 BRASS NIPPLE lead free Made in the USA? [if not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 6 EA \$3.83 \$22.98 Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY UOM Unit Price Extended P	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 6 EA \$3.83 \$22.98 YES 279 1-1/2 X 4 BRASS NIPPLE lead free Made in the USA? If not, what location? PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$6.87 \$13.74 YES 280 1-1/2 X 6 BRASS NIPPLE lead free Made in the USA If not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$10.15 \$20.30 YES 281 2 ALL BRASS NIPPLE lead free Made in the USA If not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 YES 283 2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$3.56	\$7.12	YES
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 6 EA \$3.83 \$22.98 YES 279 1-1/2 X 4 BRASS NIPPLE lead free Made in the USA? If not, what location? PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$6.87 \$13.74 YES 280 1-1/2 X 6 BRASS NIPPLE lead free Made in the USA If not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$10.15 \$20.30 YES 281 2 ALL BRASS NIPPLE lead free Made in the USA If not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 YES 283 2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location						
Ferguson Waterworks (Ferguson Enterprise) 6 EA \$3.83 \$22.98 YES 279 1-1/2 X 4 BRASS NIPPLE lead free Made in the USA? [if not, what location?] PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$1.12 X 6 BRASS NIPPLE lead free Made in the USA [if not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 \$88.40 <	278 1-1/2 x 2 BRASS NIPPLE lead free					Made in the USA? If not, what location?
279 1-1/2 X 4 BRASS NIPPLE lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$6.87 \$13.74 Z80 1-1/2 X 6 BRASS NIPPLE lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$10.15 \$20.30 YES 281 2 ALL BRASS NIPPLE lead free Made in the USA If not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND 745 2 x 4 BRASS NIPPLE lead free Made in the USA If not, what location PLEASE RESPOND 745 2 x 4 BRASS NIPPLE lead free Made in the USA If not, what location? PLEASE RESPOND 745 2 x 4 BRASS NIPPLE lead free Made in the USA If not, what location? PLEASE RESPOND 745 2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location? 746 Ferguson Waterworks (Ferguson Enterprise)	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Supplier QTY UOM Unit Price Extended PLEASE RESPOND 280 1-1/2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$13.74 VES Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$10.15 \$20.30 Z81 2 ALL BRASS NIPPLE lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 17 EA \$5.43 \$92.31 282 2 x 4 BRASS NIPPLE lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 YES 283 2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location	Ferguson Waterworks (Ferguson Enterprise)	6	EA	\$3.83	\$22.98	YES
Supplier QTY UOM Unit Price Extended PLEASE RESPOND 280 1-1/2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$13.74 VES Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$10.15 \$20.30 Z81 2 ALL BRASS NIPPLE lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 17 EA \$5.43 \$92.31 282 2 x 4 BRASS NIPPLE lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 YES 283 2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location						
Ferguson Waterworks (Ferguson Enterprise) 2 EA \$6.87 \$13.74 YES 280 1-1/2 x 6 BRASS NIPPLE lead free Made in the USA if not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$10.15 \$20.30 281 2 ALL BRASS NIPPLE lead free Made in the USA if not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 17 EA \$5.43 \$92.31 282 2 x 4 BRASS NIPPLE lead free Made in the USA? [f not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 26 EA \$13.05 \$339.30 YES 284 1/2 STREET ELL brass lead free Made in the USA [f not, what location Supplier <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td></t<>						
280 1-1/2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND 281 2 ALL BRASS NIPPLE lead free Made in the USA If not, what location Supplier Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 17 EA \$5.43 \$92.31 YES 282 2 x 4 BRASS NIPPLE lead free Made in the USA If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 YES 283 2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 26 EA \$13.05 \$339.30 YES <	••	•				
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Zest \$10.15 \$20.30 YES Zest 2 EA \$10.15 \$20.30 Supplier QTY UOM Unit Price Extended Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 17 EA \$5.43 \$92.31 Zest 2 x 4 BRASS NIPPLE lead free Made in the USA If not, what location? Supplier QTY UOM Unit Price Extended Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 26 EA \$13.05 \$339.30 YES Zest 1/2 STREET ELL brass lead free Made in the USA If not, what location PLEASE RESPOND </td <td>Ferguson Waterworks (Ferguson Enterprise)</td> <td>2</td> <td>EA</td> <td>\$6.87</td> <td>\$13.74</td> <td>YES</td>	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$6.87	\$13.74	YES
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Zest \$10.15 \$20.30 YES Zest 2 EA \$10.15 \$20.30 YES Zest 2 ALL BRASS NIPPLE lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 17 EA \$5.43 \$92.31 Zest 2 x 4 BRASS NIPPLE lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 26 EA \$13.05 \$339.30 YES 284 1/2 STREET ELL brass lead free Made in the USA						
Ferguson Waterworks (Ferguson Enterprise) 2 EA \$10.15 \$20.30 YES 281 2 ALL BRASS NIPPLE lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 17 EA \$5.43 \$92.31 282 2 x 4 BRASS NIPPLE lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 Supplier QTY UOM Unit Price Extended PLEASE RESPOND F						
281 2 ALL BRASS NIPPLE lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 17 EA \$5.43 \$92.31 282 2 x 4 BRASS NIPPLE lead free Made in the USA If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 283 2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 26 EA \$13.05 \$339.30 YES 284 1/2 STREET ELL brass lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 285 1/2 BRASS 90 lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterwo	••					
Supplier QTY UOM Unit Price Extended PLEASE RESPOND 282 2 x 4 BRASS NIPPLE lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 283 2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location? Supplier QTY UOM Unit Price Extended Supplier QTY UOM Unit Price Extended Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 26 EA \$13.05 \$339.30 YES Made in the USA If not, what location PLEASE RESPOND 284 1/2 STREET ELL brass lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 285 1/2 BRASS 90 lead free Made in the USA? If not, what location? </td <td>Ferguson Waterworks (Ferguson Enterprise)</td> <td>2</td> <td>EA</td> <td>\$10.15</td> <td>\$20.30</td> <td>YES</td>	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$10.15	\$20.30	YES
Supplier QTY UOM Unit Price Extended PLEASE RESPOND 282 2 x 4 BRASS NIPPLE lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 283 2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location? Supplier QTY UOM Unit Price Extended Supplier QTY UOM Unit Price Extended Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 26 EA \$13.05 \$339.30 YES Made in the USA If not, what location PLEASE RESPOND 284 1/2 STREET ELL brass lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 285 1/2 BRASS 90 lead free Made in the USA? If not, what location? </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>						
Ferguson Waterworks (Ferguson Enterprise) 17 EA \$5.43 \$92.31 YES 282 2 x 4 BRASS NIPPLE lead free Made in the USA? If not, what location? PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 YES 283 2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND 285 1/2 BRASS 90 lead free Made in the USA? If not, what location? PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Supplier QTY <td></td> <td></td> <td>-</td> <td></td> <td></td> <td></td>			-			
282 2 x 4 BRASS NIPPLE lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 10 EA \$8.84 \$88.40 283 2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 26 EA \$13.05 \$339.30 284 1/2 STREET ELL brass lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Supplier QTY UOM Unit Price Extended Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 285 1/2 BRASS 90 lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended PLEASE RESPOND YES 285 1/2 BRASS 90 lead free Made in the USA? If not, what location	••	•				
SupplierQTYUOMUnit PriceExtendedPLEASE RESPONDFerguson Waterworks (Ferguson Enterprise)10EA\$8.84\$88.40YES2832 x 6 BRASS NIPPLE lead freeMade in the USAIf not, what locationSupplierQTYUOMUnit PriceExtendedPLEASE RESPONDFerguson Waterworks (Ferguson Enterprise)26EA\$13.05\$339.30YES2841/2 STREET ELL brass lead freeMade in the USAIf not, what locationSupplierQTYUOMUnit PriceExtendedPLEASE RESPONDFerguson Waterworks (Ferguson Enterprise)2EA\$5.55\$11.10YES2851/2 BRASS 90 lead freeMade in the USA?If not, what location?PLEASE RESPONDSupplierQTYUOMUnit PriceExtendedPLEASE RESPONDSupplierQTYUOMUnit PriceExtendedPLEASE RESPONDSupplierQTYUOMUnit PriceExtendedPLEASE RESPONDFerguson Waterworks (Ferguson Enterprise)2EA\$5.55\$11.10YES2861/2 BRASS 45 lead freeMade in the USA?If not, what location?	Ferguson Waterworks (Ferguson Enterprise)	17	EA	\$5.43	\$92.31	YES
SupplierQTYUOMUnit PriceExtendedPLEASE RESPONDFerguson Waterworks (Ferguson Enterprise)10EA\$8.84\$88.40YES2832 x 6 BRASS NIPPLE lead freeMade in the USAIf not, what locationSupplierQTYUOMUnit PriceExtendedPLEASE RESPONDFerguson Waterworks (Ferguson Enterprise)26EA\$13.05\$339.30YES2841/2 STREET ELL brass lead freeMade in the USAIf not, what locationSupplierQTYUOMUnit PriceExtendedPLEASE RESPONDFerguson Waterworks (Ferguson Enterprise)2EA\$5.55\$11.10YES2851/2 BRASS 90 lead freeMade in the USA?If not, what location?PLEASE RESPONDSupplierQTYUOMUnit PriceExtendedPLEASE RESPONDSupplierQTYUOMUnit PriceExtendedPLEASE RESPONDSupplierQTYUOMUnit PriceExtendedPLEASE RESPONDFerguson Waterworks (Ferguson Enterprise)2EA\$5.55\$11.10YES2861/2 BRASS 45 lead freeMade in the USA?If not, what location?						
Ferguson Waterworks (Ferguson Enterprise)10EA\$8.84\$88.40YES2832 x 6 BRASS NIPPLE lead freeMade in the USAIf not, what locationSupplierQTYUOMUnit PriceExtendedFerguson Waterworks (Ferguson Enterprise)26EA\$13.05\$339.302841/2 STREET ELL brass lead freeMade in the USAIf not, what locationSupplierQTYUOMUnit PriceExtendedFerguson Waterworks (Ferguson Enterprise)2EA\$5.55\$11.102851/2 BRASS 90 lead freeMade in the USA?If not, what location?SupplierQTYUOMUnit PriceExtendedSupplierQTYUOMUnit PriceExtendedSupplierQTYUOMUnit PriceExtendedSupplierQTYUOMUnit PriceExtendedSupplierQTYUOMUnit PriceExtendedFerguson Waterworks (Ferguson Enterprise)2EA\$5.55\$11.10YES2861/2 BRASS 45 lead freeMade in the USA?If not, what location?						·
283 2 x 6 BRASS NIPPLE lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 26 EA \$13.05 \$339.30 YES 284 1/2 STREET ELL brass lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 285 1/2 BRASS 90 lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 286 1/2 BRASS 45 lead free Made in the USA? If not, what location?		•				
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 26 EA \$13.05 \$339.30 YES 284 1/2 STREET ELL brass lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 285 1/2 BRASS 90 lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 286 1/2 BRASS 45 lead free Made in the USA? If not, what location?	Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$8.84	\$88.40	YES
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 26 EA \$13.05 \$339.30 YES 284 1/2 STREET ELL brass lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 285 1/2 BRASS 90 lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 286 1/2 BRASS 45 lead free Made in the USA? If not, what location?						Reads in the UCA of not what location
Ferguson Waterworks (Ferguson Enterprise) 26 EA \$13.05 \$339.30 YES 284 1/2 STREET ELL brass lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 285 1/2 BRASS 90 lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES YES YES YES 285 1/2 BRASS 90 lead free Made in the USA? If not, what location? YES YES YES YES YES 286 1/2 BRASS 45 lead free Made in the USA? If not, what location?	· · · · ·	ΟΤΥ			Futereded	,
284 1/2 STREET ELL brass lead free Made in the USA If not, what location Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 285 1/2 BRASS 90 lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Supplier QTY UOM Unit Price Extended Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 286 1/2 BRASS 45 lead free Made in the USA? If not, what location? 286 1/2 BRASS 45 lead free Made in the USA? If not, what location?	• •	•				
SupplierQTYUOMUnit PriceExtendedPLEASE RESPONDFerguson Waterworks (Ferguson Enterprise)2EA\$5.55\$11.10YES2851/2 BRASS 90 lead freeMade in the USA?If not, what location?SupplierQTYUOMUnit PriceExtendedPLEASE RESPONDFerguson Waterworks (Ferguson Enterprise)2EA\$5.55\$11.10YES2861/2 BRASS 45 lead freeMade in the USA?If not, what location?	reiguson waterworks (reiguson Enterprise)	20	EA	\$13.05	\$339.30	TES
SupplierQTYUOMUnit PriceExtendedPLEASE RESPONDFerguson Waterworks (Ferguson Enterprise)2EA\$5.55\$11.10YES2851/2 BRASS 90 lead freeMade in the USA?If not, what location?SupplierQTYUOMUnit PriceExtendedPLEASE RESPONDFerguson Waterworks (Ferguson Enterprise)2EA\$5.55\$11.10YES2861/2 BRASS 45 lead freeMade in the USA?If not, what location?	284 1/2 STREET ELL brass lead free					Made in the USA If not what location
Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 285 1/2 BRASS 90 lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 286 1/2 BRASS 45 lead free Made in the USA? If not, what location?		ΟΤΥ	UOM	Unit Price	Extended	
285 1/2 BRASS 90 lead free Made in the USA? If not, what location? Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 286 1/2 BRASS 45 lead free Made in the USA? If not, what location?	••	•				
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 286 1/2 BRASS 45 lead free Made in the USA? If not, what location?		-	273	<i>ç</i> 5.55	Ŷ11.10	125
Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 286 1/2 BRASS 45 lead free Made in the USA? If not, what location?	285 1/2 BRASS 90 lead free					Made in the USA? If not, what location?
Ferguson Waterworks (Ferguson Enterprise) 2 EA \$5.55 \$11.10 YES 286 1/2 BRASS 45 lead free Made in the USA? If not, what location?		QTY	UOM	Unit Price	Extended	
286 1/2 BRASS 45 lead free Made in the USA? If not, what location?		2	EA	\$5.55	\$11.10	YES
Supplier QTY UOM Unit Price Extended PLEASE RESPOND	286 1/2 BRASS 45 lead free					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND

Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$5.50	\$11.00	YES
287 3/4 STREET 90 brass lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$7.80	\$15.60	YES
288 2/4 PRACE 00 load free					Made in the USA If not, what location
288 3/4 BRASS 90 lead free	OTV		Unit Duine	Cutou de d	
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$5.85	\$11.70	YES
289 3/4 BRASS 45 lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$7.64	\$15.28	YES
290 1 STREET 90 brass lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$13.18	\$26.36	YES
291 1 BRASS 90 lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$9.52	\$19.04	YES
292 1 BRASS 45 lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$12.61	\$25.22	YES
293 1-1/4 STREET 90 brass lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$23.40	\$46.80	YES
294 1-1/4 BRASS 90 lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$14.89	\$29.78	YES
295 1-1/4 BRASS 45 lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$20.04	\$40.08	YES

296 1-1/2 BRASS 90 lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$18.63	\$37.26	YES
297 1-1/2 BRASS 45 lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$25.23	\$50.46	YES
298 2 BRASS 90 lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$30.82	\$154.10	
	U		700101	<i>4</i> 20.120	
299 2 STREET ELL brass lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	18	EA	\$43.72	\$786.96	YES
300 2 BRASS 45 lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$40.40	\$80.80	YES
301 2-1/2 BRASS 90 lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$71.26	\$142.52	
	-	L/	<i>,</i> ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	¥172.32	125
302 2-1/2 BRASS 45 lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$77.12	\$154.24	YES
303 1/2 BRASS TEE lead free					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$4.93	\$9.86	YES
304 3/4 BRASS TEE lead free					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$7.14		
reiguson waterworks (reiguson Linterprise)	2	LA	Ş7.14	Ş14.20	

						-
305 1 BRASS TEE lead free					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	6	EA	\$13.18	\$79.08	YES	
306 1-1/4 BRASS TEE lead free					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$22.68	\$45.36	YES	
307 1-1/2 BRASS TEE lead free					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$25.07	\$50.14	YES	
308 2 BRASS TEE lead free					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	II not, what location
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$42.44	\$169.76	YES	
reiguson waterworks (reiguson enterprise)	4	LA	\$42.44	\$109.70	163	
309 3/4 BRASS COMP TEE lead free					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$31.88	\$127.52	YES	
310 1 BRASS COMP TEE lead free					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$44.21	\$176.84	YES	
311 COMP - COMP 90 3/4 brass lead free					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$17.80	\$35.60	YES	
312 COMP - COMP 90 1 brass lead free					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$22.36	\$44.72	YES	
313 3/4 POLY TUBING					Made in the USA	If not, what location
Supplier	ΟΤΥ	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	9000	EA	\$0.25	\$2,250.00	YES	
	5000			<i>γ2</i> ,230.00	125	
314 1 POLY TUBING					Made in the USA?	If not, what location?

Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	9000	EA	\$0.40	\$3,600.00	YES
315 1 1/2 POLY TUBING					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$0.80	\$80.00	YES
316 2 POLY TUBING					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	700	EA	\$1.35	\$945.00	YES
					·
317 3 DRESSER (WIDE RANGE)					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	6	EA	\$62.17	\$373.02	YES
					·
318 4 DRESSER (WIDE RANGE)					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	6	EA	\$78.03	\$468.18	YES
					·
319 6 DRESSER (WIDE RANGE)					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	21	EA	\$113.75	\$2,388.75	YES
					·
320 8 DRESSER (WIDE RANGE)					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	21	EA	\$129.00	\$2,709.00	YES
					·
321 10 DRESSER (WIDE RANGE)					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$201.00	\$402.00	PLEASE SELECT
322 12 DRESSER (WIDE RANGE)					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$250.84	\$501.68	PLEASE SELECT
					·
323 6 CI DRESSER					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND

	Ferguson Waterworks (Ferguson Enterprise)	1	EA	No Bid		PLEASE SELECT
		-	_,,			
324	8 CI DRESSER					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	1	EA	No Bid		PLEASE SELECT
325	10 CI DRESSER					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	1	EA	No Bid		PLEASE SELECT
r						· · · · · · · · · · · · · · · · · · ·
326	12 CI DRESSER					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	1	EA	No Bid		PLEASE SELECT
227						
327	2 HYMAX COUPLING/DRESSER	QTY	UOM	Unit Price	Extended	Made in the USA If not, what location
	Supplier Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$88.00	\$176.00	YES
	Ferguson waterworks (Ferguson Enterprise)	2	EA	\$88.00	\$170.00	TES
328	4 HYMAX COUPLING/DRESSER					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$145.00	\$1,450.00	YES
					. ,	
329	6 HYMAX COUPLING/DRESSER					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	20	EA	\$191.00	\$3,820.00	YES
330	8 HYMAX COUPLING/DRESSER					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	20	EA	\$217.00	\$4,340.00	YES
331	10 HYMAX COUPLING/DRESSER					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$275.00	\$550.00	YES
222						Reads in the UCAD life net what is setting 2
332	12 HYMAX COUPLING/DRESSER	0.11		Linit Duiss	Evended	Made in the USA? If not, what location?
	Supplier	QTY 2	UOM EA	Unit Price	Extended	
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$336.00	\$672.00	1ES

						he
333 14 HYMAX COUPLING/DRESSER	0.77			Forte series of	Made in the USA	If not, what location
Supplier	QTY	UOM		Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$895.00	\$1,790.00	YES	
334 16 HYMAX COUPLING/DRESSER					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$901.00	\$1,802.00	YES	
					-	1
335 18 HYMAX COUPLING/DRESSER						If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$1,085.00	\$2,170.00	YES	
336 3 MEGALUG					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$22.49	\$44.98	YES	
	2	LA	<i>422.43</i>	Ş ++ .50	125	
337 4 MEGALUG					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$24.17	\$96.68	YES	
338 6 MEGALUG					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	12	EA	\$32.57	\$390.84	YES	
	12	LA	<i>232.31</i>	JJJ0.84	TL5	
339 8 MEGALUG					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$43.26	\$86.52	YES	
340 10 MEGALUG					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	2	EA	\$123.00	\$246.00	YES	
Ferguson Waterworks (Ferguson Enterprise)	2	ĽA	\$125.00	\$240.00	TLJ	
341 12 MEGALUG					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	•
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$86.17	\$172.34	YES	

342 18 MEGALUG					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$228.81	\$457.62	
reiguson waterworks (reiguson Litterprise)	2	LA	Ş220.01	\$457.02	TL3
343 20 MEGALUG					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$283.67	\$567.34	YES
344 24 MEGALUG					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$327.39	\$654.78	YES
345 4 MJ FIELD LOCK KIT					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$70.00	\$140.00	YES
346 6 MJ FIELD LOCK KIT					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$81.00	\$8,100.00	YES
347 8 MJ FIELD LOCK KIT					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	52	EA	\$115.00	\$5,980.00	YES
348 10 MJ FIELD LOCK KIT					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$165.00	\$825.00	YES
349 12 MJ FIELD LOCK KIT					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	40	EA	\$225.00	\$9,000.00	YES
350 14 MJ FIELD LOCK KIT					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	4	EA	No Bid		NO
351 16 MJ FIELD LOCK KIT					Made in the USA If not, what location

Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	4	EA	No Bid		NO	
352 3 GLAND PACK					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$9.08	\$18.16	NO	INDIA
353 3 GLAND ACCESSORY PACK					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	20	EA	\$9.15	\$183.00	NO	INDIA
					-	
354 4 GLAND PACK						If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$12.48	\$24.96	NO	INDIA
					-	
355 4 GLAND ACCESSORY PACK						If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$10.65	\$53.25	NO	INDIA
356 6 GLAND PACK					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$17.01	\$34.02	NO	INDIA
357 6 GLAND ACCESSORY PACK						If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	50	EA	\$13.33	\$666.50	NO	INDIA
г <u>г</u>						
358 8 GLAND PACK						If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$19.28	\$38.56	NO	INDIA
359 8 GLAND ACCESSORY PACK						If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$14.49	\$144.90	NO	INDIA
360 10 GLAND PACK				<u> </u>		If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	

Ferguson Waterworks (Ferguson Enterprise)	2	FΔ	\$27.79	\$55 58	NO	INDIA
renguson waterworks (renguson Enterprise)	2	LA	Υ <u></u> Ζ1.15	<i>455.50</i>	NO	
10 GLAND ACCESSORY PACK					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$19.03	\$38.06	NO	INDIA
12 GLAND PACK					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$28.92	\$57.84	NO	INDIA
12 GLAND ACCESSORY PACK						If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	9	EA	\$20.54	\$184.86	NO	INDIA
1						
		-				If not, what location
	•	••••				
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$28.82	\$115.28	NO	INDIA
	071			<u> </u>		If not, what location
	•					
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$32.46	\$129.84	NU	INDIA
18 CLAND BACK					Mada in the USA2	If not, what location?
	ΟΤΥ	ПОМ	Linit Price	Extended		
	•					INDIA
reiguson waterworks (reiguson Enterprise)	2	LA	Ş10.77	Ş57.J4	NO	INDIA
20 GLAND PACK						
					IMade in the USA?	If not, what location?
	ΟΤΥ	UOM	Unit Price	Extended	Made in the USA? PLEASE RESPOND	If not, what location?
Supplier	QTY 2	UOM EA			Made in the USA? PLEASE RESPOND	If not, what location?
	•		Unit Price \$20.64		PLEASE RESPOND	
Supplier	•				PLEASE RESPOND	
Supplier Ferguson Waterworks (Ferguson Enterprise)	•				PLEASE RESPOND NO	INDIA
Supplier Ferguson Waterworks (Ferguson Enterprise) 24 GLAND PACK	2	EA	\$20.64	\$41.28 Extended	PLEASE RESPOND NO Made in the USA	INDIA
Supplier Ferguson Waterworks (Ferguson Enterprise) 24 GLAND PACK Supplier	2 QTY	EA	\$20.64 Unit Price	\$41.28 Extended	PLEASE RESPOND NO Made in the USA PLEASE RESPOND	INDIA If not, what location
Supplier Ferguson Waterworks (Ferguson Enterprise) 24 GLAND PACK Supplier	2 QTY	EA	\$20.64 Unit Price	\$41.28 Extended	PLEASE RESPOND NO Made in the USA PLEASE RESPOND	INDIA If not, what location
Supplier Ferguson Waterworks (Ferguson Enterprise) 24 GLAND PACK Supplier Ferguson Waterworks (Ferguson Enterprise)	2 QTY	EA	\$20.64 Unit Price	\$41.28 Extended	PLEASE RESPOND NO Made in the USA PLEASE RESPOND NO	INDIA If not, what location INDIA
	Ferguson Waterworks (Ferguson Enterprise) 12 GLAND PACK Supplier Ferguson Waterworks (Ferguson Enterprise) 12 GLAND ACCESSORY PACK Supplier Ferguson Waterworks (Ferguson Enterprise) 14 GLAND ACCESSORY PACK Supplier Ferguson Waterworks (Ferguson Enterprise) 16 GLAND ACCESSORY PACK Supplier Ferguson Waterworks (Ferguson Enterprise) 18 GLAND PACK Supplier Ferguson Waterworks (Ferguson Enterprise)	10 GLAND ACCESSORY PACKSupplierQTYFerguson Waterworks (Ferguson Enterprise)212 GLAND PACKQTYSupplierQTYFerguson Waterworks (Ferguson Enterprise)212 GLAND ACCESSORY PACKQTYSupplierQTYFerguson Waterworks (Ferguson Enterprise)914 GLAND ACCESSORY PACKQTYSupplierQTYFerguson Waterworks (Ferguson Enterprise)914 GLAND ACCESSORY PACKQTYSupplierQTYFerguson Waterworks (Ferguson Enterprise)416 GLAND ACCESSORY PACKQTYSupplierQTYFerguson Waterworks (Ferguson Enterprise)418 GLAND PACKQTYSupplierQTYFerguson Waterworks (Ferguson Enterprise)2	10 GLAND ACCESSORY PACKSupplierQTYUOMFerguson Waterworks (Ferguson Enterprise)2EA12 GLAND PACKQTYUOMSupplierQTYUOMFerguson Waterworks (Ferguson Enterprise)2EA12 GLAND ACCESSORY PACKUOMSupplierQTYUOMFerguson Waterworks (Ferguson Enterprise)9EA14 GLAND ACCESSORY PACKUOMSupplierQTYUOMFerguson Waterworks (Ferguson Enterprise)4EA16 GLAND ACCESSORY PACKUOMSupplierQTYUOMFerguson Waterworks (Ferguson Enterprise)4EA16 GLAND ACCESSORY PACKUOMSupplierQTYUOMFerguson Waterworks (Ferguson Enterprise)4EA18 GLAND PACKUOMSupplierQTYUOMFerguson Waterworks (Ferguson Enterprise)2EA18 GLAND PACKUOMFerguson Waterworks (Ferguson Enterprise)2EA	10 GLAND ACCESSORY PACKSupplierQTYUOMUnit PriceFerguson Waterworks (Ferguson Enterprise)2EA\$19.0312 GLAND PACKUOMUnit PriceSupplierQTYUOMUnit PriceFerguson Waterworks (Ferguson Enterprise)2EA\$28.9212 GLAND ACCESSORY PACKUOMUnit PriceSupplierQTYUOMUnit PriceFerguson Waterworks (Ferguson Enterprise)9EA\$20.5414 GLAND ACCESSORY PACKUOMUnit PriceSupplierQTYUOMUnit PriceFerguson Waterworks (Ferguson Enterprise)4EA\$28.8216 GLAND ACCESSORY PACKUOMUnit PriceFerguson Waterworks (Ferguson Enterprise)4EA\$32.4618 GLAND PACKUOMUnit PriceSupplierQTYUOMUnit PriceFerguson Waterworks (Ferguson Enterprise)4EA\$32.4618 GLAND PACKUOMUnit PriceFerguson Waterworks (Ferguson Enterprise)2EA\$18.77	10 GLAND ACCESSORY PACKSupplierQTYUOMUnit PriceExtendedFerguson Waterworks (Ferguson Enterprise)2EA\$19.03\$38.0612 GLAND PACKQTYUOMUnit PriceExtendedSupplierQTYUOMUnit PriceExtendedFerguson Waterworks (Ferguson Enterprise)2EA\$28.92\$57.8412 GLAND ACCESSORY PACKUOMUnit PriceExtendedSupplierQTYUOMUnit PriceExtendedFerguson Waterworks (Ferguson Enterprise)9EA\$20.54\$184.8614 GLAND ACCESSORY PACKQTYUOMUnit PriceExtendedSupplierQTYUOMUnit PriceExtendedFerguson Waterworks (Ferguson Enterprise)4EA\$28.82\$115.2816 GLAND ACCESSORY PACKSupplierQTYUOMUnit PriceExtendedFerguson Waterworks (Ferguson Enterprise)4EA\$32.46\$129.8418 GLAND PACKSupplierQTYUOMUnit PriceExtendedSupplierQTYUOMUnit PriceExtendedFerguson Waterworks (Ferguson Enterprise)4EA\$32.46\$129.8418 GLAND PACKSupplierQTYUOMUnit PriceExtendedFerguson Waterworks (Ferguson Enterprise)2EA\$18.77\$37.54	10 GLAND ACCESSORY PACK Made in the USA Supplier QTY UOM Unit Price Extended Ferguson Waterworks (Ferguson Enterprise) 2 EA \$19.03 \$38.06 NO 12 GLAND PACK Made in the USA Made in the USA PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$28.92 \$57.84 Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 2 EA \$28.92 \$57.84 NO 12 GLAND ACCESSORY PACK Made in the USA Made in the USA? PLEASE RESPOND Supplier QTY UOM Unit Price Extended PLEASE RESPOND Ferguson Waterworks (Ferguson Enterprise) 9 EA \$20.54 \$184.86 NO 14 GLAND ACCESSORY PACK Made in the USA PLEASE RESPOND NO NO NO 16 GLAND ACCESSORY PACK Made in the USA Supplier QTY UOM Unit Price Extended PLEASE RESPOND NO 16 GLAND ACCESSORY PACK Made in the USA Supplier

370 4 MJ 45	071/			Eutonala d	Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$56.12	\$224.48	YES
371 6 MJ 90					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$108.30	\$1,083.00	YES
reiguson waterworks (reiguson Enterprise)	10	LA	Ş100.50	91,005.00	
372 6 MJ 45					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$89.35	\$178.70	YES
373 8 MJ 90					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$158.60	\$317.20	YES
374 8 MJ 45					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$126.58	\$253.16	YES
375 12 MJ 90					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$190.00	\$950.00	YES
376 12 MJ 45					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$165.00	\$330.00	YES
377 4 PVC BACK FLOW PREVENTOR					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$28.00	\$56.00	YES
378 CAST IRON CLEANOUT/DOMESTIC BRAND BOOT					Made in the USA If not, what location
Supplier	ΟΤΥ	UOM	Unit Price	Extended	PLEASE RESPOND
	23	EA	\$203.72	\$4,685.56	YES
Ferguson Waterworks (Ferguson Enterprise)	23	EA	\$203.72	Ş4,085.50	TL3

						f
379 CAST IRON C/O LID					L	f not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$25.00	\$250.00	YES	
380 4 PVC C/O HUB					Made in the USA?	f not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	285	EA	\$2.75	\$783.75	YES	
381 4 RUBBER C/O CAP					Made in the USA?	f not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$2.19	\$219.00	YES	
						_
382 4 POPOUT C/O						f not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	340	EA	\$5.00	\$1,700.00	YES	
383 4 C/O HUB SCHED 40					Made in the USA	f not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	130	EA	\$3.35	\$435.50	YES	
384 6 RUBBER C/O CAP					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	40	EA	\$7.06	\$282.40	YES	
385 4 PVC C/O TOP					Made in the USA	If not, what location
Supplier	ΟΤΥ	UOM	Unit Price	Extended	PLEASE RESPOND	in not, what location
Ferguson Waterworks (Ferguson Enterprise)	50	EA	\$1.88	\$94.00	YES	
386 6 PVC C/O TOP						f not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	20	EA	\$9.66	\$193.20	YES	
387 6 PVC C/O HUB					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$14.94	\$149.40	YES	
388 4 PVC -PVC CT ADAPTER					Made in the USA?	If not, what location?

Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	400	EA	\$4.16	\$1,664.00	YES
389 4 PVC-CLAY CT ADAPTER					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	140	EA	\$4.31	\$603.40	YES
					· · · · · · · · · · · · · · · · · · ·
390 6 PVC -PVC CT ADAPTER					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	60	EA	\$9.22	\$553.20	YES
r - r					
391 6 PVC-CLAY CT ADAPTER					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$9.22	\$922.00	YES
392 8 PVC -PVC CT ADAPTER					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	41	EA	\$14.18	\$581.38	YES
393 8 PVC-CLAY CT ADAPTER					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	16	EA	\$14.11	\$225.76	YES
394 10 PVC-CLAY CT ADAPTER					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$20.44	\$81.76	YES
395 12 PVC-PVC CT ADAPTER	0.71/			Cut and a d	Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$25.05	\$50.10	YES
396 10 x 10 PVC CT ADAPTER					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$20.44	\$40.88	YES
reiguson waterworks (reiguson enterprise)	2	EA	\$20.44	\$40.88	113
397 12 PVC - CLAY CT ADAPTER					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
σαμλιιεί	Q 11		Unit Flice	LATENUEU	

Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$25.04	\$50.08	YES
398 24 RING ONLY (400# CLASS B&H)					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	7	EA	\$175.00	\$1,225.00	YES
				. ,	
399 24 MANHOLE LID ONLY(400# CLASS B&H)					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	6	EA	\$175.00	\$1,050.00	YES
400 24 x 2 5/8 MH RISER/DB 300# 23 3/4 IN. LID OF	F SITE				Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$137.60	\$688.00	YES
401 24 X 4 MH RISER/DB 300# 23 3/4 IN. LID OFF SI	ΓE				Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$171.23	\$342.46	YES
402 24 X 6 MH RISER/DB 300# 23 3/4 IN. LID OFF SI					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$256.84	\$513.68	YES
403 24 1/8 X 3 MH RISER/DB 400# TRAFFIC LID					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	6	EA	\$166.74	\$1,000.44	YES
404 4 SCH35 PVC PIPE					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	3000	EA	\$0.86	\$2,580.00	YES
405 6 SCH35 PVC PIPE		-			Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2500	EA	\$1.86	\$4,650.00	YES
406 8 SCH35 PVC PIPE				<u> </u>	Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	500	EA	\$3.33	\$1,665.00	YES

407 10 SCH35 PVC PIPE	-				Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$5.22	\$52.20	YES
408 12 SCH35 PVC PIPE					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$7.50	\$75.00	YES
409 4 SDR26 PVC PIPE					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$1.15	\$115.00	YES
410 6 SDR 26 PVC PIPE	AT				Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$2.46	\$246.00	YES
411 8 SDR 26 PVC PIPE	AT				Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$4.44	\$444.00	YES
412 4 PVC 22/SOLID WELD	07/			<u> </u>	Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	277	EA	\$2.44	\$675.88	YES
413 4 PVC 45//SOLID WELD					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	440	EA	\$2.44	\$1,073.60	YES
reiguson waterworks (reiguson Enterprise)	440	LA	Ş Z. 44	\$1,075.00	163
414 4 PVC 90/SOLID WELD					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	10	EA	\$2.98	\$29.80	YES
reiguson waterworks (reiguson Enterprise)	10		72.20		
415 6 PVC 22/SOLID WELD					Made in the USA If not, what location
Supplier	ΟΤΥ	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	15	EA	\$10.68	\$160.20	
reiguson waterworks (reiguson Linterplise)	13	LA	\$10.00	\$100.20	

416 6 PVC 45/SOLID WELD	-				Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	48	EA	\$8.75	\$420.00	YES	
417 8 PVC 22/SOLID WELD					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$23.17	\$46.34	YES	
418 8 PVC 45/SOLID WELD					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$23.86	\$47.72	YES	
419 12 PVC 22/SOLID WELD					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$104.54	\$209.08	YES	
420 12 PVC 45/SOLID WELD					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$65.66	\$131.32	YES	
421 4 x 4 PVC WYE/SOLID WELD					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	•
Ferguson Waterworks (Ferguson Enterprise)	250	EA	\$4.05	\$1,012.50	YES	
422 6 x 4 PVC WYE/SOLID WELD					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	90	EA	\$14.39	\$1,295.10	YES	
423 6 x 6 PVC WYE/SOLID WELD					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	24	EA	\$17.22	\$413.28	YES	
424 8 x 4 PVC WYE/SOLID WELD					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	16	EA	\$31.00	\$496.00	YES	
425 8 x 6 PVC WYE/SOLID WELD					Made in the USA2	If not, what location?

Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$38.49	\$76.98	YES
426 8 x 8 PVC WYE/SOLID WELD					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	3	EA	\$48.37	\$145.11	YES
427 4 x 4 PVC TEE/SOLID WELD					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$2.93	\$5.86	YES
					·
428 6 x 4 PVC TEE/SOLID WELD					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$11.43	\$22.86	YES
429 6 x 6 PVC TEE/SOLID WELD					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	3	EA	\$12.17	\$36.51	YES
430 4 PVC COLLAR/SOLID WELD					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	118	EA	\$1.46	\$172.28	YES
431 6 PVC COLLAR/SOLID WELD					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	
Ferguson Waterworks (Ferguson Enterprise)	20	EA	\$5.18	\$103.60	YES
432 8 PVC COLLAR/SOLID WELD				Cut and a d	Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$16.04	\$32.08	YES
					Mada in the USA If not what leasting
433 4 SCH40 COLLAR/SOLID WELD	QTY	UOM	Unit Price	Extended	Made in the USA If not, what location
Supplier	Q14 77	EA			YES
Ferguson Waterworks (Ferguson Enterprise)	11	EA	\$2.30	\$177.10	163
434 SCH35 x SCH40 REDUCER					Made in the USA If not, what location
	ΟΤΥ	UOM	Unit Price	Extended	PLEASE RESPOND
Supplier	ųn		Unit Price	Extended	

Ferguson Waterworks (Ferguson Enterprise)	22	EA	\$2.61	\$57.42	YES
					[]
435 6 x 4 PVC REDUCER					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$7.14	\$14.28	YES
436 8 x 6 PVC REDUCER					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$30.17	\$60.34	YES
437 15 x 4 RUBBER TEE					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$32.10	\$64.20	YES
438 15 x 6 RUBBER TEE					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$48.00	\$96.00	YES
439 15 x 4 TAP SADDLE WYE					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$37.83	\$75.66	YES
440 15 x 6 TAP SADDLE WYE					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$49.30	\$98.60	YES
441 4 PVC PLUG					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$2.84	\$5.68	YES
442 6 PVC PLUG					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$4.55	\$18.20	YES
443 8 PUSH IN PLUG					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	3	EA	\$15.51	\$46.53	YES
			÷10.01	÷	•

						he
444 10 PVC PLUG	0.71			Cost and a st	Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$52.59	\$105.18	YES	
445 12 PVC PLUG					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$60.90	\$121.80	YES	
446 4 EXPANDABLE PLUG					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$5.65	\$11.30		
						L
447 6 EXPANDABLE PLUG					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$15.29	\$61.16	YES	
448 8 EXPANDABLE PLUG					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$29.10	\$58.20	YES	
449 2 BOLT PLASTIC DALLAS LATERAL C/O					Made in the USA?	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	200	EA	\$17.50	\$3,500.00		
						L
450 2 BOLT CAST IRON DALLAS LATERAL C/O					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	40	EA	\$50.00	\$2,000.00	YES	
451 3 MANHOLE FIBERGLASS					Made in the USA	If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	6	EA	\$628.00	\$3,768.00	YES	
452 4 MANHOLE FIBERGLASS					Made in the USA2	If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$740.00	\$1,480.00		
reiguson waterworks (reiguson Litterprise)	2	LA	J740.00	Ş1,400.00	113	

r						FF
453	5 MANHOLE FIBERGLASS					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$847.00	\$3,388.00	YES
454	6 MANHOLE FIBERGLASS					Made in the USA If not, what location
454		ΟΤΥ			Futeradad	· · ·
	Supplier	QTY	UOM		Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	4	EA	\$960.00	\$3,840.00	YES
455	7 MANHOLE FIBERGLASS					Made in the USA If not, what location
•	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	1	EA	\$1,070.00	\$1,070.00	YES
456	8 MANHOLE FIBERGLASS					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$1,178.00	\$2,356.00	YES
		_		<i>+_,</i> 0.00	<i>~_,~,,~,~,~,~,~,~,~,~,~,~,,~,~,~,~,~,,,~,,,,,,,,,,,,,</i>	
457	9 MANHOLE FIBERGLASS					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	1	EA	\$1,290.00	\$1,290.00	YES
458	10 MANHOLE FIBERGLASS					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$1,396.00	\$2,792.00	YES
150	11 MANHOLE FIBERGLASS					Made in the USA? If not, what location?
433	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$1,499.00	\$2,998.00	
460	30 IN. MH RING ONLY					Made in the USA? If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	20	EA	\$180.00	\$3,600.00	YES
461	30 IN MH LID ONLY - MCKINNEY LOGO					Made in the USA If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
	Ferguson Waterworks (Ferguson Enterprise)	20	EA	\$170.00	\$3,400.00	YES
462	30 x 2 MH Riser-Domestic Brand					Made in the USA If not, what location

Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$348.00	\$696.00	YES
463 30 x 4 MH Riser - Domestic Brand					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$394.00	\$788.00	YES
464 30 x 6 MH Riser - Domestic Brand					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$458.50	\$917.00	YES
465 1 1/2 METER FLANGE SET					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	20	EA	\$29.00	\$580.00	YES
466 2 METER FLANGE SET					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$30.00	\$3,000.00	YES
467 3/4 STRAIGHT METER COUPLING					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	1000	EA	\$7.05	\$7,050.00	YES
468 3/4 BENT METER COUPLING					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	25	EA	\$10.83	\$270.75	YES
469 1 STRAIGHT METER COUPLING					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	1000	EA	\$10.83	\$10,830.00	YES
470 1 BENT METER COUPLING					Made in the USA? If not, what location?
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND
Ferguson Waterworks (Ferguson Enterprise)	25	EA	\$15.50	\$387.50	YES
471 3/4 X 7 METER RISER					Made in the USA If not, what location
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND

Ferguson Waterworks (Ferguson Enterprise)	50	EA	\$86.50	\$4,325.00	YES	
472 3/4 X 12 METER RISER					Made in the USA If not, what location	
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$92.50	\$462.50	YES	
						_
473 1 X 10 METER RISER					Made in the USA? If not, what location?	,
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	_
Ferguson Waterworks (Ferguson Enterprise)	20	EA	\$135.25	\$2,705.00	YES	
474 1 X 12 METER RISER					Made in the USA? If not, what location?	,
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$139.75	\$698.75	YES	
						_
475 1 X 18 METER RISER					Made in the USA If not, what location	
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	2	EA	\$150.00	\$300.00	YES	
476 1 1/2 X 18 METER RISER					Made in the USA If not, what location	
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	_
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$884.86	\$4,424.30	YES	
477 2 X 24 METER RISER					Made in the USA? If not, what location?	,
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	_
Ferguson Waterworks (Ferguson Enterprise)	5	EA	\$1,046.50	\$5,232.50	YES	
						—
478 14 X 18 METER BOX (34A15)	ΟΤΥ			Eutondod	Made in the USA If not, what location	
Supplier Ferguson Waterworks (Ferguson Enterprise)	QTY 250	UOM EA	Unit Price	Extended	PLEASE RESPOND YES	
rerguson waterworks (rerguson Enterprise)	250	EA	\$100.00	\$25,000.00	TES	
479 18 X 24 METER BOX (55)					Made in the USA If not, what location	٦
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	50	EA	\$218.00	\$10,900.00	YES	
480 WATER METER 3 INCH F/H					Made in the USA? If not, what location?	2
Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
Ferguson Waterworks (Ferguson Enterprise)	50	EA	\$827.75	\$41,387.50	YES	

481	2 IN. DOUBLE CHECK VALVE						If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$375.00	\$37,500.00	YES	
482	3/4 METER GASKET (ALSO 1/16 IN. FIBER 1/8 IN.					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	20000	EA	\$0.11	\$2,200.00	YES	
483	1 METER GASKET (ALSO 1/1 IN. FIBER 1/8 IN. FIB					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	20000	EA	\$0.15	\$3,000.00	YES	
484	1 1/2 METER GASKET						If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	200	EA	\$0.75	\$150.00	YES	
							1
485	2 METER GASKET					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	200	EA	\$0.87	\$174.00	YES	
486	3/4 POLY INSERT					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	300	EA	\$1.75	\$525.00	YES	
487	1 POLY INSERT					Made in the USA?	If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	200	EA	\$1.85	\$370.00	YES	
488	1 1/2 POLY INSERT					Made in the USA?	If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	20	EA	\$3.45	\$69.00	YES	
489	2 POLY INSERT					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	50	EA	\$4.14	\$207.00	YES	

490							
	A34 ADAPTER					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2000	EA	\$7.63	\$15,260.00	YES	
491	A15 ADAPTER					Made in the USA?	If not, what location?
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	10	EA	No Bid		NO	item not made
192	2 1/2 IN. BOLT SET					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	•
	Ferguson Waterworks (Ferguson Enterprise)	100	EA	\$5.00	\$500.00	YES	
93	UFR MANUFACTURED BY A.Y. MCDONALD					Made in the USA	If not, what location
	Supplier	QTY	UOM	Unit Price	Extended	PLEASE RESPOND	
	Ferguson Waterworks (Ferguson Enterprise)	2000	EA	\$50.00	\$100,000.00	YES	
	Those items may be purchased under this contr	act. Bidde	er shall qu	ote percentage (%)	discount to be		
	Those items may be purchased under this contr	act. Diuut	ci silali yu	ULE DEILEIILAKE 1/01			
	Supplier	QTY	UOM	Percentage	Extended		
	Supplier Ferguson Waterworks (Ferguson Enterprise)	QTY 1	UOM EA				
	Ferguson Waterworks (Ferguson Enterprise) For Meter Boxes & Lids - Discount off published	1 Mfg's Lis	EA st Price - N	Percentage 10 OT SPECIFICALLY LI	Extended STED ON BID		
195	Ferguson Waterworks (Ferguson Enterprise) For Meter Boxes & Lids - Discount off published Throughout the year the City of McKinney may	1 Mfg's Lis require a	EA st Price - N dditional i	Percentage 10 OT SPECIFICALLY LI tems which are not	Extended STED ON BID specifically		
195	Ferguson Waterworks (Ferguson Enterprise) For Meter Boxes & Lids - Discount off published Throughout the year the City of McKinney may described above. Those items may be purchase	1 Mfg's Lis require a d under tl	EA st Price - N dditional in his contrac	Percentage 10 OT SPECIFICALLY LI tems which are not t. Bidder shall quo	Extended STED ON BID specifically te percentage		
.95	Ferguson Waterworks (Ferguson Enterprise) For Meter Boxes & Lids - Discount off published Throughout the year the City of McKinney may	1 Mfg's Lis require a	EA st Price - N dditional i	Percentage 10 OT SPECIFICALLY LI tems which are not	Extended STED ON BID specifically		
95	Ferguson Waterworks (Ferguson Enterprise) For Meter Boxes & Lids - Discount off published Throughout the year the City of McKinney may described above. Those items may be purchase Supplier Ferguson Waterworks (Ferguson Enterprise)	1 Mfg's Lis require a d under tl QTY 1	EA st Price - N dditional i his contrac UOM EA	Percentage 10 OT SPECIFICALLY LI tems which are not tt. Bidder shall quot Percentage 10	Extended STED ON BID specifically te percentage Extended		
	Ferguson Waterworks (Ferguson Enterprise) For Meter Boxes & Lids - Discount off published Throughout the year the City of McKinney may described above. Those items may be purchase Supplier	1 Mfg's Lis require a d under th QTY 1 st Price - I	EA st Price - Ne dditional if his contrac UOM EA NOT SPECI	Percentage 10 OT SPECIFICALLY LI tems which are not tt. Bidder shall quo Percentage 10 FICALLY LISTED ON	Extended STED ON BID specifically te percentage Extended BID		
	Ferguson Waterworks (Ferguson Enterprise) For Meter Boxes & Lids - Discount off published Throughout the year the City of McKinney may described above. Those items may be purchase Supplier Ferguson Waterworks (Ferguson Enterprise) For Poly Tubing Discount off published Mfg's Lis	1 Mfg's Lis require a d under tl QTY 1 st Price - I require a	EA it Price - No dditional in his contrac UOM EA NOT SPECI dditional in	Percentage 10 OT SPECIFICALLY LI tems which are not tt. Bidder shall quot Percentage 10 FICALLY LISTED ON tems which are not	Extended STED ON BID specifically te percentage Extended BID specifically		
	Ferguson Waterworks (Ferguson Enterprise) For Meter Boxes & Lids - Discount off published Throughout the year the City of McKinney may described above. Those items may be purchase Supplier Ferguson Waterworks (Ferguson Enterprise) For Poly Tubing Discount off published Mfg's Lis Throughout the year the City of McKinney may	1 Mfg's Lis require a d under tl QTY 1 st Price - I require a	EA it Price - No dditional in his contrac UOM EA NOT SPECI dditional in	Percentage 10 OT SPECIFICALLY LI tems which are not tt. Bidder shall quot Percentage 10 FICALLY LISTED ON tems which are not	Extended STED ON BID specifically te percentage Extended BID specifically		
	Ferguson Waterworks (Ferguson Enterprise) For Meter Boxes & Lids - Discount off published Throughout the year the City of McKinney may described above. Those items may be purchase Supplier Ferguson Waterworks (Ferguson Enterprise) For Poly Tubing Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchase	1 Mfg's Lis require a d under tl QTY 1 st Price - I require a d under tl	EA st Price - Ne dditional if his contrac UOM EA NOT SPECI dditional if his contrac	Percentage 10 OT SPECIFICALLY LI tems which are not ct. Bidder shall quot Percentage 10 FICALLY LISTED ON tems which are not	Extended STED ON BID specifically te percentage Extended BID specifically te percentage		
	Ferguson Waterworks (Ferguson Enterprise) For Meter Boxes & Lids - Discount off published Throughout the year the City of McKinney may described above. Those items may be purchased Supplier Ferguson Waterworks (Ferguson Enterprise) For Poly Tubing Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchased Supplier Ferguson Waterworks (Ferguson Enterprise)	1 Mfg's Lis require a d under tl QTY 1 st Price - I require a d under tl QTY 1	EA st Price - No dditional in his contrac UOM EA NOT SPECI dditional in his contrac UOM EA	Percentage 10 OT SPECIFICALLY LI tems which are not t. Bidder shall quot Percentage 10 FICALLY LISTED ON tems which are not t. Bidder shall quot Percentage 10	Extended STED ON BID specifically te percentage Extended BID specifically te percentage Extended		
496	Ferguson Waterworks (Ferguson Enterprise) For Meter Boxes & Lids - Discount off published Throughout the year the City of McKinney may described above. Those items may be purchase Supplier Ferguson Waterworks (Ferguson Enterprise) For Poly Tubing Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchase Supplier	1 Mfg's Lis require a d under tl QTY 1 st Price - I require a d under tl QTY 1 st Price - I	EA st Price - Ne dditional if his contrac UOM EA NOT SPECI dditional if his contrac UOM EA	Percentage 10 OT SPECIFICALLY LI tems which are not it. Bidder shall quot Percentage 10 FICALLY LISTED ON tems which are not it. Bidder shall quot Percentage 10 FICALLY LISTED ON	Extended STED ON BID specifically te percentage Extended BID specifically te percentage Extended BID		

	Supplier	QTY	UOM	Percentage	Extended
	Ferguson Waterworks (Ferguson Enterprise)	1	EA	10	
	For Ductile/Cast Iron Fittings Discount off publis	-			
498	BID Throughout the year the City of McKinney n				
	specifically described above. Those items may b	-	sed under t	this contract. Bidd	er shall quote
	Supplier	QTY	UOM	Percentage	Extended
	Ferguson Waterworks (Ferguson Enterprise)	1	EA	10	
	For Couplings, Clamps & Saddles Discount off pu	ublished	Mfg's List P	rice - NOT SPECIFI	CALLY LISTED
499	ON BID Throughout the year the City of McKinn	ey may r	equire addi	tional items which	n are not
	specifically described above. Those items may b	e purcha	sed under t	his contract. Bidd	er shall quote
	Supplier	QTY	UOM	Percentage	Extended
	Ferguson Waterworks (Ferguson Enterprise)	1	EA	10	
	For Castings Discount off published Mfg's List P	rice - NO	T SPECIFICA	LLY LISTED ON BID) Throughout
500	the year the City of McKinney may require addit	tional ite	ms which a	re not specifically	described
	above. Those items may be purchased under thi	is contra	ct. Bidder sl	hall quote percent	age (%)
					~B~ (/~)
	Supplier	QTY	UOM	Percentage	Extended
	Supplier	QTY 1	UOM EA	Percentage 10	Extended
501	Supplier Ferguson Waterworks (Ferguson Enterprise)	QTY 1 st Price -	UOM EA NOT SPECIF	Percentage 10	Extended
501	Supplier Ferguson Waterworks (Ferguson Enterprise) For Gate Valves Discount off published Mfg's Lis	QTY 1 st Price - require a	UOM EA NOT SPECIF dditional it	Percentage 10 ICALLY LISTED ON ems which are no	Extended BID t specifically
501	Supplier Ferguson Waterworks (Ferguson Enterprise) For Gate Valves Discount off published Mfg's Lis Throughout the year the City of McKinney may	QTY 1 st Price - require a	UOM EA NOT SPECIF dditional it	Percentage 10 ICALLY LISTED ON ems which are no	Extended BID t specifically
501	Supplier Ferguson Waterworks (Ferguson Enterprise) For Gate Valves Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchased	QTY 1 st Price - require a d under t	UOM EA NOT SPECIF dditional it his contract	Percentage 10 FICALLY LISTED ON ems which are not t. Bidder shall quo	Extended BID t specifically te percentage
501	Supplier Ferguson Waterworks (Ferguson Enterprise) For Gate Valves Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchased Supplier	QTY 1 st Price - require a d under t QTY 1	UOM EA NOT SPECIF dditional it his contract UOM EA	Percentage 10 FICALLY LISTED ON ems which are not t. Bidder shall quo Percentage 10	Extended BID t specifically te percentage Extended
	Supplier Ferguson Waterworks (Ferguson Enterprise) For Gate Valves Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchased Supplier Ferguson Waterworks (Ferguson Enterprise) For Fire Hydrants Discount off published Mfg's L	QTY 1 st Price - require a d under t QTY 1 .ist Price	UOM EA NOT SPECIF dditional it his contract UOM EA - NOT SPEC	Percentage 10 FICALLY LISTED ON ems which are not t. Bidder shall quo Percentage 10 FIFICALLY LISTED O	Extended BID t specifically te percentage Extended
	Supplier Ferguson Waterworks (Ferguson Enterprise) For Gate Valves Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchased Supplier Ferguson Waterworks (Ferguson Enterprise) For Fire Hydrants Discount off published Mfg's I Throughout the year the City of McKinney may	QTY 1 st Price - require a d under t QTY 1 ist Price require a	UOM EA NOT SPECIF dditional it his contract UOM EA - NOT SPEC dditional it	Percentage 10 FICALLY LISTED ON ems which are not t. Bidder shall quo Percentage 10 FIFICALLY LISTED O ems which are not	Extended BID t specifically te percentage Extended N BID t specifically
	Supplier Ferguson Waterworks (Ferguson Enterprise) For Gate Valves Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchased Supplier Ferguson Waterworks (Ferguson Enterprise) For Fire Hydrants Discount off published Mfg's L Throughout the year the City of McKinney may described above. Those items may be purchased	QTY 1 st Price - require a d under t QTY 1 ist Price require a	UOM EA NOT SPECIF dditional it his contract UOM EA - NOT SPEC dditional it	Percentage 10 FICALLY LISTED ON ems which are not t. Bidder shall quo Percentage 10 FIFICALLY LISTED O ems which are not t. Bidder shall quo	Extended BID t specifically te percentage Extended N BID t specifically
	Supplier Ferguson Waterworks (Ferguson Enterprise) For Gate Valves Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchased Supplier Ferguson Waterworks (Ferguson Enterprise) For Fire Hydrants Discount off published Mfg's L Throughout the year the City of McKinney may described above. Those items may be purchased Supplier	QTY 1 st Price - require a d under t QTY 1 List Price require a d under t	UOM EA NOT SPECIF dditional it his contract UOM EA - NOT SPEC dditional it his contract	Percentage 10 FICALLY LISTED ON ems which are not t. Bidder shall quo Percentage 10 FIFICALLY LISTED O ems which are not	Extended BID t specifically te percentage Extended N BID t specifically te percentage
	Supplier Ferguson Waterworks (Ferguson Enterprise) For Gate Valves Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchased Supplier Ferguson Waterworks (Ferguson Enterprise) For Fire Hydrants Discount off published Mfg's L Throughout the year the City of McKinney may described above. Those items may be purchased	QTY 1 st Price - require a d under t QTY 1 ist Price require a d under t QTY	UOM EA NOT SPECIF dditional it his contract UOM EA - NOT SPEC dditional it his contract UOM	Percentage 10 FICALLY LISTED ON ems which are not t. Bidder shall quo Percentage 10 FIFICALLY LISTED O ems which are not t. Bidder shall quo Percentage	Extended BID t specifically te percentage Extended N BID t specifically te percentage
	Supplier Ferguson Waterworks (Ferguson Enterprise) For Gate Valves Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchased Supplier Ferguson Waterworks (Ferguson Enterprise) For Fire Hydrants Discount off published Mfg's L Throughout the year the City of McKinney may described above. Those items may be purchased Supplier	QTY 1 st Price - require a d under t QTY 1 List Price require a d under t QTY 1	UOM EA NOT SPECIF dditional it his contract UOM EA - NOT SPEC dditional it his contract UOM EA	Percentage 10 FICALLY LISTED ON ems which are not t. Bidder shall quo Percentage 10 FIFICALLY LISTED O ems which are not t. Bidder shall quo Percentage 10	Extended BID t specifically te percentage Extended N BID t specifically te percentage Extended
502	Supplier Ferguson Waterworks (Ferguson Enterprise) For Gate Valves Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchased Supplier Ferguson Waterworks (Ferguson Enterprise) For Fire Hydrants Discount off published Mfg's L Throughout the year the City of McKinney may described above. Those items may be purchased Supplier Ferguson Waterworks (Ferguson Enterprise)	QTY 1 st Price - require a d under t QTY 1 List Price require a d under t QTY 1 st Price -	UOM EA NOT SPECIF dditional it his contract UOM EA - NOT SPEC dditional it his contract UOM EA	Percentage 10 FICALLY LISTED ON ems which are not t. Bidder shall quo Percentage 10 FIFICALLY LISTED O ems which are not t. Bidder shall quo Percentage 10 FICALLY LISTED ON	Extended BID t specifically te percentage Extended N BID t specifically te percentage Extended BID
502	Supplier Ferguson Waterworks (Ferguson Enterprise) For Gate Valves Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchased Supplier Ferguson Waterworks (Ferguson Enterprise) For Fire Hydrants Discount off published Mfg's Lis Throughout the year the City of McKinney may described above. Those items may be purchased Supplier Ferguson Waterworks (Ferguson Enterprise) Miscellaneous - Discount off published Mfg's Lis	QTY 1 st Price - require a d under t QTY 1 ist Price a d under t QTY 1 st Price - require a	UOM EA NOT SPECIF dditional it his contract UOM EA - NOT SPEC dditional it EA NOT SPECIF dditional it	Percentage 10 FICALLY LISTED ON ems which are not t. Bidder shall quo Percentage 10 FIFICALLY LISTED O ems which are not t. Bidder shall quo Percentage 10 FICALLY LISTED ON ems which are not	Extended BID t specifically te percentage Extended N BID t specifically te percentage Extended BID t specifically

	Ferguson Waterworks (Ferguson Enterprise)	1	EA	10	
	1				
504	Inventory- State percentage of items specifical	ly describe	ed above m	naintained by offer	or as stocked
	Supplier	QTY	UOM	Percentage	Extended
	Ferguson Waterworks (Ferguson Enterprise)	1	EA	75	
505	Provide charges for evening and/or weekends	delivery in	addition	to normal charges.	Provide
505	Provide charges for evening and/or weekends charges for evenings, Monday - Friday 5:00 PM	through 7	:00 AM (C	entral Time) and o	n weekends,
	Supplier	QTY	UOM	Price	Extended
	Ferguson Waterworks (Ferguson Enterprise)	1	EA	\$0.00	\$0.00